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UGC NET PAPER 2 NOVEMBER 20, 2021 SHIFT 1 PRAKRIT QUESTION PAPER

Topic:- 91PRAKRIT_A

1 : ; :
) The language of tiloyapannatti belongs to this age

(1) Primary Prakrit (2) Tertiary Prakrit
(3} Modern Praknt (4) Secondary Prakrit
fretmoots = s 59 7 #i 2
(1)  wug T (@) qdE TiE
3 eyl i @) fadm T

[Question ID = 1806][Question Description = Q01_Prakrit_ SHAAN_NOV21]
1. 1 [Option ID = 7221]
2. 2 [Option ID = 7222]
3. 3 [Option ID = 7223]
4. 4 [Option ID = 7224]

2
) Modern Indo Aryan languages have developed from the Prakrit of this age
(1) Modern Prakrit (2) Secondary Prakrit
(3) Primary Prakrit (4) Tertiary Praknrit

ST AR SIS 39 3 i wrhd W o freefa g )
(1) s A @) fed 7
(3) WM T (9 = T

[Question ID = 1807][Question Description = Q02_Prakrit_ SHAAN_NOV21]
1. 1 [Option ID = 7225]
2. 2 [Option ID = 7226]
3. 3 [Option ID = 7227]
4. 4 [Option ID = 7228]

3) By tertiary Prakrit you mean —
(1) Vedic language (2) The language with ‘u’ ending in general
(3) Segregative language (4) Inscriptional Praknt

FrT M T T eI A B

(1)  afes v (2) SR aEen Wi
(3)  SFTCHF W @) s T

[Question ID = 1808][Question Description = Q03_Prakrit_ SHAAN_NOV21]
1. 1 [Option ID = 7229]
2. 2 [Option ID = 7230]
3. 3 [Option ID = 7231]
4. 4 [Option ID = 7232]

4)  Dasavaikalikasttra has been created in this Prakrit

(1) Tertiary Prakrit (2) Secondary Praknt
(3) Primary Prakrit (4) Modern Prakrit
ZABTHE 58 Wiha | e 3 -
1) v e @ fifw s

o TreTIT ST £ AN et e
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[Question ID = 1809][Question Description = Q04_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7233]
2. 2 [Option ID = 7234]
3. 3 [Option ID = 7235]
4. 4 [Option ID = 7236]

>) The word sibhar 1s substituted for word sikara is in following prakrit
(1) maharasti (2) magadhi
(3) apabhrarmsa (4) paidaci

st e ¥ fore s 7rsg b1 e e s o % -

(1) wEEdl (@) A
(3)  Iuuw (@) T

[Question ID = 1810][Question Description = Q05_Prakrit_SHAAN_NOV21]
. 1 [Option ID = 7237]
2 [Option ID = 7238]
. 3 [Option ID = 7239]
4 [Option 1D = 7240]

B P L

6) The word hitapa is used for hrdaya in following prakrit

(1) magadhi (2) paisaci
(3) maharastri (4) Saurseni

5ed g = forg, feaw v =1 yaP e e & g @ -

(1) AR ©@) =i
3  wEwE (@) =R

[Question ID = 1811][Question Description = Q06_Prakrit_ SHAAN_NOV21]
. 1 [Option ID = 7241]
2 [Option ID = 7242]
3 [Option ID = 7243]
. 4 [Optien ID = 7244]

Ja Lad a2

7} The word gasca is used for gaccha in following prakyit

(1) paidacl (2) ardhamagadhi
(3) magadhi (4) saurseni

ToB TR % T, WA YRR 1 A 9 WA § A B -

(1)  dum=h (2)  SAdmmedi
(3)  wrTH (4) =iRE

[Question ID = 1812][Question Description = Q07_Prakrit_ SHAAN_NOV21]
. 1 [Option ID = 7245]
2 [Option ID = 7246]
3 [Option ID = 7247]
. 4 [Optien ID = 7248]

Ja Led pd —

) The word ammahe is used 1n following prakrit

(1) apabhramsa (2) palsaci
(3) maharastri (4) Saurseni
IR WIeg T A e v o 2 ¢ -
(1) s @) Yreh
(3) wEREh 4)
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[Question ID = 1813][Question Description = Q08_Prakrit_SHAAN_NOV21]

1. 1 [Option ID = 7249]
2. 2 [Option ID = 7250]
3. 3 [Option ID = 7251]
4, 4 [Option ID = 7252]
%) The last recention of ardhamagadhi canons was held at
(1) pataliputra (2) mathura
(3) valabhi (4) Sravasti
stgmrTelt ST i sifaw e T g8 off -
(O e 2 =@
3 gaur 4) HaEd

[Question ID = 1814][Question Description = Q09_Prakrit_SHAAN_NOV21]
. 1 [Option ID = 7253]
2 [Option ID = 7254]
. 3 [Option ID = 7255]
4 [Option ID = 7256]

e L e

10)  This is not a work of Kundakundacarya

(1) asta pahuda (2) niyamsara
(3) samavasara (4) doha pahuda

T2 FEFAER I T TG 2 -

(1) e uEs 2y FEmEr
(3) wwER (4) T Es

[Question ID = 1816][Question Description = Q11_Prakrit_SHAAN_NOV21]
. 1 [Option ID = 7261]
2 [Option ID = 7262]
3 [Option ID = 7263]
4 [Option ID = 7264]

Ja Led P —

L The number of the chapters of uttarajhayana is
(1 19 (2) 36
3 41 (4) 28

IS F T I TEAl B -

(D 19 (2) 36
(3) 41 4 28

[Question ID = 1817][Question Description = Q12_Prakrit_SHAAN_NOV21]
1 [Option ID = 7265]
2 [Option ID = 7266]
3 [Option ID = 7267]
4 [Option ID = 7268]

b okad R

12 ; ; :
) Kamsavaho 1s the creation of this type —

(1) Khandakavya (2) Muktakakavya
(3) sattaka (4) n3ataka
‘FoaE o faw B = -

(3) TLZF (4) TeH
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[Question ID = 1818][Question Description = Q13_Prakrit_SHAAN_NOVZ1]

1. 1 [Option ID = 7269]
2. 2 [Option ID = 7270]
3. 3 [Option ID = 7271]
4. 4 [Option ID = 7272]
13)  Thisis the first caritakavya in prakrit language
(1) mahaviracariyam (2) kanhacariyam
(3) paumacariyam (4) supasanahacariyam
TR 1 TR TARGHT T & -
(1) weEdEEiE (2) =FoEard
(3) weHEid (4) gIEARSEE

[Question ID = 1819][Question Description = Q14_Prakrit_ SHAAN_NOV21]
1 [Option ID = 7273]
2 [Option ID = 7274]
3 [Option ID = 7275]
4 [Option ID = 7276]

o kad

14 i
) This 1s the work of gunapala —

(1) mahaviracarivam (2) jambicariyam
(3) ravahacudarayacarivam (4) puhavicandacariyam

=T U i T AR B -

(1) wEEREiE (2) =EErd
(3) CoREEEE (4) YedEEERT

[Question ID = 1820][Question Description = Q15_Prakrit_SHAAN_NOV21]
. 1 [Option ID = 7277]

2 [Option ID = 7278]
. 3 [Option ID = 7279]

4 [Option ID = 7280]

L 2

13) The poet of the carudattanataka is

(1) asvaghosa (2) kahdasa
(3)  bhasa 4) Sudraka

qrEeT ARE =9 HE TR -

(1)  FvaE (2) whifeig™E
(3) 210 @ “EF

[Question ID = 1821][Question Description = Q16_Prakrit_SHAAN_NOV21]
. 1 [Option ID = 7281]
2 [Option ID = 7282]
3 [Option ID = 7283]
. 4 [Option ID = 7284]

Ja L P2 —

16)
Hemacandra was born in this Vikrama Samvat

(1) 1145VS. (2) 1245V.S.
(3) 1345V.S. (4) 1545V.8.

THEIg 1 0 59 fopen @ § 5w on -

(1) T4 1145 (2) fa.4. 1245
(3) fam. 1345 4 fa4. 1545
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[Question ID = 1822][Question Description = Q17_Prakrit_SHAAN_NOVZ1]
. 1 [Option ID = 7285]
. 2 [Option ID = 7286]
. 3 [Option ID = 7287]
4 [Option 1D = 7288]

P Lt P

17 ., ; ‘ g
) Agnisarma 1s the character 1n this plot —

(1) kuvalayamalakaha (2) samaraiccakaha
(3) hlavaikaha (4) tarangavaikaha

SR 39 91 = 9§ -

(1) g ERREIGIETS (2) THUgTaEE!
(3)  <lcTase (@) TSR

[Question ID = 1823][Question Description = Q18_Prakrit_SHAAN_NOV21]

1. 1 [Option ID = 7289]
2. 2 [Option ID = 7290
3, 3 [Option ID = 7291]
4, 4 [Option ID = ¥292]
18) ; :
The nanapancamikaha 1s written by —
(1) dhanesvarasri (2) hemacandrasiiri
(3) mahesvarasiri (4) devendrasim
rorgEisReT % AT § -
Q)  oivEgh @) TR
3) TTEEH @) R

[Question ID = 1824][Question Description = Q19_Prakrit_SHAAN_NOV21]
. 1 [Option ID = 7293]
2 [Option ID = 7294
. 3 [Option ID = 7295]
. 4 [Option ID = 7296]

Ja L P2

1 . . .
% The total number of javanikas in the anandasundari sattaka are —

(1)  four (2) three
(3) six (4) five

FEg-el TeF § Fel AP & -
1 = 2 =

(3 == (4 T

[Question ID = 1825][Question Description = Q20_Prakrit_ SHAAN_NOV21]
. 1 [Option ID = 7297]
2 [Option ID = 7298]
3 [Option ID = 7299]
. 4 [Optien ID = 7300]

Ja Led P —

2 i s ; S T ” : 5
0 Idha na kim c1 jivam arabhitpa prajahitavvam. The purport of this line of ASokan nscription

15 —

(1) Many killed animals should be oblated here
(2) One killed animal should be oblated here

(3) No killed animal should be oblated here

(4) All the killed animals should be oblated here

“zg 7 T T T swfiEn e’
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ST % STeTE 1 39 TR 1 o1 2 -

(1) == %% S arE 599 e s

(2) =g U= S AR gad R S|

(3) Il i3 Sa 9 g zad fhar o)

(4) = oot e aees gam e s
[Question ID = 1826][Question Description = Q21_Prakrit_SHAAN_NOVZ1]
1. 1 [Option ID = 7301]
2. 2 [Option ID = 7302]

3, 3 [Option ID = 7303]
4, 4 [Option ID = 7304]

21)  sarvata harapitani ropapitani ca’ This line of Adokan insceription means —
(1) All the trees were suphed and made planted
(2) Trees were not supled at all places
(3) Fruits were brought at all places
(4) Roots and fruits were supphed and made planted at all the places
[ ‘Hara g E E o ﬁ E H’1
ST % AT h 3G Ufh w1 Had & -

(O =l 3@ e ™ g Ty |

(2 =l SR W & TE T TR

(8)  THi wE 9w o )

@ T I W S @ U ' a T
[Question ID = 1827][Question Description = Q22_Prakrit_ SHAAN_NOV21]
1. 1 [Option ID = 7305]
2. 2 [Option ID = 7306]

3. 3 [Option ID = 7307]
4. 4 [Option ID = 7308]

22) Mahameghavahanena cetirajavasa — vadha nena. Who is related with meghavahana of the
above line of Hathigumpha inscription?
(1) Magadharaja (2) Kharavela
(3) Nandaraja (4) Brhaspatimitra
" HETEETERT SfateEmaa | i sifierg i 38 Uith % dearss % 6y Fhed 27
(1) T @) @S

(8) 3w 4) SEEatdiE

[Question ID = 1828][Question Description = Q23_Prakrit_ SHAAN_NOV21]
1. 1 [Option ID = 7309]
2. 2 [Option ID = 7310]
3. 3 [Option ID = 7311]
4. 4 [Option ID = 7312]

2 i s ; ; a5
3) This 1s the language of ghatiyvala inscription

(1) Sanskrit (2) Apabhramsa
(3) Prakrit (4) Pal
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[Question ID = 1829][Question Description = Q24_Prakrit_SHAAN_NOV21]

1. 1 [Option ID = 7313]
2. 2 [Option ID = 7314]
3. 3 [Option ID = 7315]
4. 4 [Option ID = 7316]
24)  The chapters of vrttajatisamuccaya are named as —
(1) pariccheda (2) parva
(3) asgvasa (4) niyama
FaSAIaET= A% = A F AH AT 8 -
1) =g 2 ud
(3) s @ fm

[Question ID = 1830][Question Description = Q25_Prakrit_SHAAN_NOV21]

1. 1 [Option ID = 7317]
2. 2 [Option ID = 7318]
3. 3 [Option ID = 7319]
4. 4 [Option ID = 7320]
25) - ; :
Thas 1s the lexicography compiled by Heémacandra
(1) Prakritkosa (2) Amarakoéa
(3) DesSinamamala (4) Visvalocanakosa
ST g g e T AR R -
(1) T (2) *HGHE
(3) 2T @) fRrasreTsm

[Question ID = 1831][Question Description = Q26_Prakrit_SHAAN_NOVZ1]

1. 1 [Option ID = 7321]
2. 2 [Option ID = 7322]
3. 3 [Option ID = 7323]
4. 4 [Option ID = 7324]
26)  He is the author of satlbhasacandrika a grammatical text —
(1) Simharaja (2) Laksmidhara
(3) Trivikrama (4) Hemacandra
TEUTITE Rt SATh0T 37 = I 48 3 -
1 @) e
(3) Bifem @ TS

[Question ID = 1832][Question Description = Q27_Prakrit_SHAAN_NOV21]
. 1 [Option ID = 7325]
. 2 [Option ID = 7326]
. 3 [Option ID = 7327)
4 [Option ID = 7328)

e L P —

27 . .
) He 1s the author of the grammar text prakmta rupavatara —

{1 simharaja (2) hemacandra
(3) vararuci (4 canda

TS TR ST 7 o i 7% § -
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(3) T=H @ =vs

[Question ID = 1833][Question Description = Q28_Prakrit_SHAAN_NOVZ21]
1. 1 [Option ID = 7329]
2. 2 [Option ID = 7330]
3. 3 [Option ID = 7331]
4. 4 [Option ID = 7332)

23} This 1s the example of assimilation —
(1) kankano (2) akko
(3) caficala (4) siddhi
g YT T IR B -
(1)  =geon (2)  3FFH
(3) == @ TG

[Question ID = 1834][Question Description = Q29_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7333]
2. 2 [Option ID = 7334]
3. 3 [Option ID = 7335]
4, 4 [Option ID = 7336]

29) This word has vowel sandhi —
(1) kamalavapam (2) rayaniyaro
(3) nayarajano (4} bamhanando
TH Ie2 § Tl B -
(1) FHeE (2) wwieR
(8) RS @) wEvE

[Question ID = 1835][Question Description = Q30_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7337]
2. 2 [Option ID = 7338]
3. 3 [Option ID = 7339]
4. 4 [Option ID = 7340]

30
‘ This word 1s not a participle —
(1) hasanti (2) bhanamano
(3) bhalitina (4) gantum
77 WeE Fgd T B -
() =at« (2) wommw
(3) @iz @ T

[Question ID = 1836][Question Description = Q31_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7341]
2. 2 [Option ID = 7342]
3. 3 [Option ID = 7343]
4. 4 [Option ID = 7344]

i This 1s a pronoun word —
(1) gacchai (2) mvvana

(3) ke (4) sammam

T2 ga IS B —
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[Question ID = 1837][Question Description = Q32_Prakrit_ SHAAN_NOV21]
1. 1 [Option ID = 7345]
2. 2 [Option ID = 7346]
3. 3 [Option ID = 7347]
4. 4 [Option ID = 7348]

32 =
} The Logavijac’ chapter of Acarangasiitra mainly deals with this
(1) Karmabandha (2) Lokacara
(3) Iccha-Vijaya (4) Iccha-parimana

SATARTTE o1 ATesiatl STE99 08 T | 39 (3999 0 Jfaure & 2 -

L L

() a4 (2) THER
3 z=mi-ta=m @) F=1-qftm

[Question ID = 1838][Question Description = Q33_Prakrit_SHAAN_NOV21]
. 1 [Option ID = 7349]
. 2 [Dption ID = 7350]
. 3 [Option ID = 7351]
4 [Option 1D = 7352]

e L P —

33)
The statement ‘egarh jinejja apponari esa se paramo jao’ i1s quoted from

(1) Pravacanasara (2) Uttaraddhyvayanasttra
(3) Dravyasamgraha (4) Sammaisuttam

‘T e ST TR § T Sl 98 FYF T WU T 3g B -

(1)  TEEAER (2) SOUEEETEA
3) FEEE @ FEEd

[Question ID = 1839][Question Description = Q34_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7353]
2. 2 [Option ID = 7354]
3. 3 [Option ID = 7355]
4. 4 [Option ID = 7356]

34 ; : s
) The Dasavaikalikasatra belongs to this category of Ardhamagadhi Agama texts
(1) Chhedasttra (2) Argasitra
(3) Milasiitra (4) Upangasitra

ZISHITHET AGATTE 27 T | 59 4ol 2 -
1 (2) T
3 T @) o

[Question ID = 1840][Question Description = Q35_Prakrit_SHAAN_NOV21]
1 [Option ID = 7357]
2 [Option ID = 7358]
3 [Option ID = 7359]
4 [Option ID = 7360]

N PR W

29) The language of the Pravancanasarais —

(1) Paisaci (2) Magadhi
(3) Maharastri (4) Sauraseni

Ye==ER i 9 2 -
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(1) Y @ T
(3) wEmy @ i

[Question ID = 1841][Question Description = Q36_Prakrit_SHAAN_NOV21]
. 1 [Option ID = 7361]
2 [Option ID = 7362]
3 [Option ID = 7363]
4 [Option ID = 7364]

Ja L P2 —

20 The language of Samaraiccakaha is

(1) Sauraseni Prakrit (2) Maharastn Praknt
3) Gandhari Praknt (4) Ardhamagadhi Prakrit

TS TE T YT R -

(1) iR e 2) e WHd
(3) TR WEa @ srgarEi

[Question ID = 1842][Question Description = Q37_Prakrit_SHAAN_NOV21]

1. 1 [Option ID = 7365]
2. 2 [Option ID = 7366]
3. 3 [Option ID = 7367]
4. 4 [Option ID = 7368]
37) The title ‘Abhimanameru’ is related to
(1) Poet Puspadanta (2) Poet Dhanapala
(3) Poet Svayambhu (4) Poet Raidhu
‘iR Sy T wEEted B
(1) = T8 (2) =E g
(3) FE I 4) = TY

[Question ID = 1843][Question Description = Q38_Prakrit_SHAAN_NOV21]

1. 1 [Option ID = 7369]
2. 2 [Option ID = 7370]
3. 3 [Option ID = 7371]
4. 4 [Option ID = 7372]
38) C e s A . i
One of the major 1ncidents depicted 1n setubandha 1s —
(1) Gaudavadha (2) Ravanavadha
(3) Kamsavadha (4) Dhurtavadha
Tge-a ° aftia sk 19E 9o @
(1) itzam (2) TEEH
(3) HHay @ giay

[Question ID = 1844][Question Description = Q39_Prakrit_SHAAN_NOV21]
. 1 [Option ID = 7373]
2 [Option ID = 7374
. 3 [Option ID = 7375]
. 4 [Option ID = 7376]

Ja L 2 4

39) “Pasiyaumahu devi manohirama” referes to the Prayer of this Godess in nayvakumaracariu

(1) Parvatl (2) Sarasvatl
(3) Laksmi (4) Durga

uEEaREtE ¥ uRes g < moifeoe’’ % grr 5o 3 o s R s 2

™

(1) Tt (2) wt

£

(3) @& 4) m
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[Question ID = 1845][Question Description = Q40_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7377]
2. 2 [Option ID = 7378]
3. 3 [Option ID = 7379]
4, 4 [Option ID = 7380]

40) Read the following and choose the correct statements :

(A) No Praknt word has been used in Vedic hiterature

(B) Some forms have been used 1n Vedic literature of Ardhamagadhi Literature
(C) The earliest Digambara literature 1s in Primary Prakrit

(D)  The texts of Milasitra are found 1n Secondary Prakrit

(E) The language of Haribhadra's literature 1s in Secondary Prakrit

Choose the correct answer from the options given below :

1 (A, (©). (E) only (2) (B). (C). (D) only
(3  B. A). (D)only (4 (). D). (E) only

Frerferfan = w8 o T w B -

(A Az wfge J foredi wa w1 i 7 gam 2

(B) Afw wizca § $3 T ard WM} TR F AT F)

(© Wi R wfeer wem T 9 | 2

D) woma = 7 fgdm i e 7 2

(E)  =ftagyit % mfgex =1 v fged i 21

1= f2u v Rereql 9 O 9 3o @ 999 Shifag

1) =ae (A) (©) E) 2) = (B) (O) (D)
(3 waa (B) Q) D) @ 3 (C) (D) (E)

[Question ID = 1846][Question Description = Q41_Prakrit_ SHAAN_NOV21]
1. 1 [Option ID = 7381]
2. 2 [Option ID = 7382]
3. 3 [Option ID = 7383]
4. 4 [Option ID = 7384]

=] Read the following and choose the correct statements :
(4)  All the medial aspirate consonants change to ‘ha’ in Prakrit
(B) In Prakrit, medial non-conjunct non-aspirate consonants ka. ga, ca, ja. ta. da are
dropped
(C)  The final consonant in Prakrit does not retain
(D)  All the words in Prakrit are vowel ending
(E) The anunasika is not ardha anusvara
Choose the correct answer from the options given below :
(1) (A), (B), (E) only (2) (D), (E), (A) only
(3) (B), (C). (D) only (4 (©). (D). (A) only
frfefiga =t wd it @8 o1+ 94 -

i)

() WA 9 uell merEd] wEnm sAeE g Ratdd & S 2l
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(B) YA A AeATd! ST ACUAV A F 1A T T g g ol I 2
(C) wa A vmg ° sifam =iem A9TEd, Tel Tl
(D)  Ta 3 @i weg T B 3

(B) oA o1 3R TE g

T v 7o famedt § § wat I 99 i
() F4 @A) B E) (2) #Fa (D) (B) (A)
(3 I« B) (C) (D) @) e (C) (D) (A)

[Question ID = 1847][Question Description = Q42_Prakrit_ SHAAN_NOV21]
1. 1 [Option ID = 7385]
2. 2 [Option ID = 7386]
3. 3 [Option ID = 7387]
4. 4 [Option ID = 7388]

42) Read the following and choose the correct statements :

(A) Some non-aspirates change to aspirate in Prakrit

(B) Some aspirates also change to non-aspirates in Prakrit
(C)  The cause of letter elison is not easiness of pronunciation
(D) The word ‘eka’ 1s used in many senses

(E) The pronoun ‘tat’ can not be used as an adjective

Choose the most appropriate answer from the options given below :

1) A, (C), (E) only (2) (B). (C), (E) only
(3 (A, (D), (E)only (4 (A). (B). (D) only

frefafiaa =1 78 o =2 Fe =i =)

(A) U A FD SEu ST e i s S 3|
(B)  Wihd W % ROl oS e | s W 2
(C) T § AU A T B SR G 7= 2
(D) ‘TH 9w W FE IS I o gl 2|

() ‘@a T\ % = e % =9 § 7@ 8 g

= fou U el O ® T SUI TR 1 = i)
1) = (A) (©) B (2) A (B) (C) (B)

3 el (A) D) EB) @ e (A) (B) (D)

[Question ID = 1848][Question Description = Q43_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7389]
2. 2 [Option ID = 7350]

| 3. 3 [Optien ID = 7391]
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| 4. 4 [Option ID = 7392]

43) Read the following and choose the correct statements :

(A)
B)
©
D)

(E)

The indeclinables are declined in cases for, they stand for verb

The indeclinables are not dechined in case for they do not standa for any noun

Prakrit has dirgha sandh:

Prakrit has vrddhi sandhi

Prakrit has guna sand

Choose the most appropriate answer from the options given below :

(1)
(3

(A). (B). (D) only 2 (B). A). (E)only
(B). (O). (E) only @ {(C). (D). (A) only

frefatia =1 gfeu ot &t =i = g

(&)

(B)

©

(D)

(E)

L

(3)

157 TE2l % fwfts w9 weld 2 it o e = g 3 31

3T WAl % TuRE w9 TH e, e 3 fee w2 % 9 T e
wiFa o dEui a2

TrFd # gig A B 2

wrFa 01 | B 2
Wﬁwﬁﬁﬁr@:ﬁﬁmwaﬁﬁm

#a (A) (B) (D) (2) 5 (B) (A) (B)

& (B) (C) (E) @ 54 (C) D) (A)

[Question ID = 1849][Question Description = Q44_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7393]
2. 2 [Option ID = 7394]
3. 3 [Option ID = 7395]
4. 4 [Option ID = 7396]

44)

(A)
(B)
(8)
(D)

(E)

Read the following and choose the correct statements :

The number of karaka is six, where as, the number of Vibhakt 1s seven
The intransitive verbs become t{ransitive when made causal
Intransitive verb is that which accomplishes with other the subject
Aorist is not found in Prakrit

Yéruti is not a natural phenomena in Prakrit

Choose the most appropriate answer from the options given below :

(D

(B). (), (E) only (2 (C), (D), (E) only
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(3) (A (B). (D)only (49) ). (). (E)only
Fretafiga =1 72 R = FoAl = T
(A)  =repl bl T 9 wrdi R s faafeat 6 e
B)  oTHF BRART FOAE T W TEEE B =i 5
(©) 3 T =g 2l 2 St st % orerman Bt o= = gl al|
(D)  wpa o TOAYERTE T EE
B) 7 yfa urra o v Tt e T 2

i fau U formedt A W TEE S ST A A i)

(1)

(3)

#ae (B) (C) (E) (2) =a (C) D) (E)

-

T (A) (B) (D) @ F9 @A) (©) (B

[Question ID = 1850][Question Description = Q45_Prakrit_SHAAN_NOVZ21]
1. 1 [Option ID = 7397]
2. 2 [Option ID = 7398]
3. 3 [Option ID = 7399]
4. 4 [Option ID = 7400]

43)  Read the following statements :

(A)
(B)
©)
D)

(E)

Apabhrams3a 1s vending language
Sa 1s changed to $a in Saurseni

More than two consonants are not coming as conjuct in maharastri

Vasantasena speaks magadhi in mrachukatikam

Word Ahakkhata is used for Yathakhyata in ardhamagadhi

Choose the correct answer from the options given below :

(1) (C), (D), (E) only (2) (B}, (C). (D) only
(3  (A).(C). (E) only (4 (A), (B). (D) only
= = w8 -

(A) YW IHR AT W 2

(B)

(©)

(D)

(E)

FE o 9 1 TiEd o g 2
TRl A 21 8 it oioH % &9 4 T8l o 2
ToghieH H Fa-ae ArTH serd 2|

AYHPTH H JUrend % folu EdEE @ vE= 26 2l
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= fou o fepeat § ¥ @) s = ==a Fifm)

(D

3

Faa (C) (D) (E) (2) 9 (B) (C) (D)

2w (A) (C) (E) @ =) ®) D)

[Question ID = 1851][Question Description = Q46_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7401]
2. 2 [Option ID = 7402]
3. 3 [Option ID = 7403]
4. 4 [Option ID = 7404]

8] Read the following and choose the correct statements :

(A)
®)
G
D)
(E)

Some rules of Maharastri are found in ardhamagadhi also

Magadhi 1s 1dentified by the rule of ‘ra’ and sa changing to la and $a respectively
The change of ta to da is found only in $aurasa
Tamotaro is a word of paidacl

e 1s not the suffix of magadhi for a ending noun 1in nominative singular

Choose the most appropriate answer fiom the options given below :

(1)  (B). (C). (E) only (2) (A, (B). (D) only
(3  (C). (D). (E) only (4 D), (E). A) only

Ffefas = w2 it wdt %ot =1 =)

(A) mER % F9 B srmmd | of o o 2

(B) TSR A FOW: o 3R I | gitaas | amel vz=re s 2

(C) @ o1 T | ulEads sae vivg i F gian 2

(D)  amiaU ST W wes

(E)  oFbRra YT S0 UF a9 w1 U T qETE @ e 2

T f2u U faedl § © GO TUERE SR 9T WA i)

(1)

(3)

= (B) (C) (E) (2) Fa (A) (B) (D)

a1 (C) (D) (E) @ ¥ D) (E) @)

[Question ID = 1852][Question Description = Q47_Prakrit_ SHAAN_NOV21]
1. 1 [Option ID = 7405]
2. 2 [Option ID = 7406]
3. 3 [Option ID = 7407]
4. 4 [Option ID = 7408]

47)

Read the following statement and choose the most appropriate statements :

(A)  The word cittha is used for tistha in saurseni

(B) The word hadakka is used for hradaya 1n paidaci
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(C)  The word cappura 1s used for karpura in apabhramséa

(D) The word bihapphai is used for brhasputi in maharastri

(E) The word duvialasa is used for dvadasa in ardhamagadhi

Choose the correct answer from the options given below :

(1) (A). ®).(C)only (2) (B). D). (E)only
(3) (B). (C). (D) only 4 A, D). (E)only
=1 = T2

&) IR e weg % fore g wes 1 e g 2
(B) ol 7 vam v F fore g v A A wan 2
(C) =T e % fou FoR 09w 4 e H WE T 3
(D) wEr § geeita weg % fore farmh vy i vt 21

(E) g e & fou sredwmredt 4 gamers wsg w1 = fieran 2

Hr=t fau v feereat 9 @ |9 ot w1 =Ea Fifg)

(1) =+ (A) B) (©) (2) = (B) (D) (E)
(3) = (B) (C) (D) @ =39 @A) D) (E)

[Question ID = 1853 ][Question Description = Q48_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7409%]
2. 2 [Option ID = 7410]
3. 3 [Option ID = 7411]
4. 4 [Option ID = 7412]

48) Read the following statements and choose the most appropriate statement :
(A) daischanged in to ta in magadhi
(B) sais changed in to éa in $aurseni
(C)  jaischanged in to ca in paisacl
(D)  The word bharata 1s changed in to bharaha in muharastri
(E) The word haum is also used for aham in apabhramsa
Choose the correct answer from the options given below :
(1) &), (B). (E) only (2) (C), (D), (E) only
(3 (A, (O). (D) only (4 (B), D). (E)only

= Fem T3

(A) T § 2 % aiEadT 9 | 2 2
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(B) =it o ¥ =1 Uigad @ ¥ =il 2l
(C) Ul § & uiads =9 § = 2|
(D) WAl § Wid vse 1 Uidad Wg | gl 21

() swyw # owq 78 % fog 5 1w ot 7 2

1 fiu T et O o TF SO w7 999 Hifam)

(L) = Q) B) E) (2) == (C) (D) (E)

(3) = (A) (C) D) 4) %3 (B) (D) (E)

[Question ID = 1854][Question Description = Q49_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7413]
2. 2 [Option ID = 7414)
3. 3 [Option ID = 7415]
4. 4 [Option ID = 7416]

49) Read the following statements and choose the most appropriate statement :
(A) Tiloyapannatti is a text of karananuvoge
(B) Kasaya pahuda is other wise called as pejjadosa pahuda
(C)  Vinoba Bhave gave inspiration to compile the samana suttam

(D) Jinadasa has composed niryulkti on Mualactra

(E) Kundkundacarva has composed satkhandagama

Choose the correct answer from the options given below :

(1) (A (). (D) only 2 @A), ®).(C) only
(3  (C). D). (E) only 4y (B). (D). (E) only
1 = v
(A) TaeEwou o AT % 5 2
(B) FHMENIES N AW UsoEd WES & |

(C) WAYHT e i U T v & 41 il
(D) TEmER W g A FERE S dR

(E)  92ESTHE i A1 $edhemm A =i 2

Hi= fou o et § ¥ w8 s w 9=9 Fifm)

(1) Faa (A) () (D) (2) 9= (A) (B) (C)

(3) == (C) D) (B) @ a9 (B) D) E)
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[Question ID = 1855][Question Description = Q50_Prakrit_SHAAN_NOVZ1]

1. 1 [Option ID = 7417]
2, 2 [Option ID = 7418]
3. 3 [Option ID = 7419]
4. 4 [Option ID = 7420]
%0)  Read the following statements and choose the most appropriate statement :
(A)  The name of the third part of samana suttam is Elements of philosophy
(B)  Life sketch of goéalaka is narrated in fifth sataka of bhagavati stitra
(C)  The description of a@srava and samvara 1s in prasdnavyakarana sttra
(D)  The description of karma theory is in pindamryukti
(E) The method of drama has been mentioned in rajaprasniva sitra
Choose the correct answer from the options given below :
1y  ®. (). (D) only (2) (A, (B), (D) only
(3) (B). (D). (E) only (49 @. (O, (E) only
= o R
(A) TAYYT = JAM WIS T AW A 2
B) TEdEE % Ted aE o e 1 Siegy 3 2|
(C)  TST=ATH G 0 38E SR Tt 1 994 B
@) fvetEis 9 w1 fogra o aF 2
(B) UswHE g7 1 Tiegafafy @ goe@ 2|
= f2u o el 3 © 99 S W = Fifm)
1) %= (B) ©) D) 2) 9 (A) B) D)
(3) e (B) (D) (B) @) % (4) () (B)

[Question ID = 1856][Question Description = Q51_Prakrit_SHAAN_NOV21]

Ja L 2 4

51)

. 1 [Option ID = 7421]

2 [Option ID = 7422]
. 3 [Option ID = 7423]
. 4 [Option ID = 7424]

Read the following statements :

(&)
®B)
©
(5
(E)

Kuvalayamalakaha is the work of 27 century
Nemicandrasiri 1s an author of mahavira cariyam
The time of laksmanagam is twelfth century

Anantahamsa is a poet of 4% century

The time of jinaharsastri is fiffteen century

¥ op b FRSTAC S Ter £ ETWURSHEELURIPCILPTIEE IR E e IRPNPP el | IRMCHERU TR U PP REILE i TPt VIRV LTI | IEEEI
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WS LANM Oy DR LS B WU AT VY Ll AEWSIEN DR I%s UHI.I.I'.UJ.I.\:I 51."”11. BFLrAVF ¥¥ o

(1 (A). (C). (D) only 2) (A, B). (D) only
3 (B). (O). (E) only 4 (B), (D), (E) only
f=fafiga == gfew -

(A)  FaeEEEEE g9 W A = )
B) TEEREiE IR gR g i 2
(C)  S=urTiy =1 99 1241 ©d) 21

(D)  oraes =ief =6 % = 2

B FresgR o a5 v od 2

A fou o fEeedt A © OE IO w1 9E i)

1) == (A). (C) 3R (D) (2) e (A) (B) 3 (D)

3) %99 (B) (C) 3R (E) @) Fa (B) (D) & (E)

[Question ID = 1857][Question Description = Q52_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7425]
2. 2 [Option ID = 7426]
3. 3 [Option ID = 7427]
4. 4 [Option ID = 7428]

2) Read the following statements :
(A) setestandha is divided 1n 15 cantos
(B) the hero of gaudanaho 1s manaveda
(C) lilavaikaha 1s a work of kotihala
(D)  kumaravala cariyam i1s a work of vakpatiraja
(E) pravarasena has composed paumacarigam
Choose the correct answer from the options given below :
1 (B, (D)only (2) @A), (C)only
3 B, (C). (D)only @ (A, B), (E)only
F=foiga s aleu -

(A)  TgEd 15 sizarEi ° faus 2

(B) TIeEHg W AHE OFeR B

(C)  fictrageal Hiee =i =A B

(D) FARARIIRE TR B 2
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(E)  T=SHEW @ 9aiyH A ol 2

Fra fau o fomewt 8 © w8 I W 9 Fil

(1)  waa (B) 3R (D) (2) A (A) R (C)

(3  =asi (B), (O) #H (D) @ e (A), (B) 3R (E)

[Question ID = 1858][Question Description = Q53_Prakrit_ SHAAN_NOV21]
1. 1 [Option ID = 7429]
2. 2 [Option ID = 7430]
3. 3 [Option ID = 7431]
4. 4 [Option ID = 7432]

3) Read the following statements :
(A) the meaning of word ‘hindr is wandering in vasudenahindi
(B) niravanahlavatikatha is a work of 8® century
(C) gaudavaho i1s divided 1n kulaka
(D) samaraiccakaha is a narrative poetry

(E) kaharayanakasa is a work of nemicandrastri

Choose the most appropriate answer from the options given below :

(1)  (B). (O), (D) only (2) (A), (B), (E) only
(3)  (A). (©). (D)only (49 @A), ®). D) only
Ffatga %9 96 -

@) FgeatsEl § EE uw W e Sy B
®) FaEvcemEdmn sred T 1w 2
(©)  7Seam Forhl ° a2l
(D)  FuUT=EFE FACH 2]

(E) e AftEggit i Fi 2

H= fau U frpeul § © T9E ST ST W 9AA i)
()  F= (B), (O) ¥R (D) 2) F99 (A), (B) 3R (E)

(3) FFF(A), (C) R (D) @) = A) B) 3 (D)

[Question ID = 1859][Question Description = Q54_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7433]
2. 2 [Option ID = 7434
3. 3 [Option ID = 7435]
4. 4 [Option ID = 7436)

34)  Read the following statements :

(A)  Poeiry and narrative are found in prakrit literature
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(B) Madraraksasa is a work of bharabhiste
(C) There are ten types of rapaka
(D) Swapnavasavadattam i1s a work of mahakavi Bhasa

(E) All the characters use prakrit in drama

Choose the most appropriate answer from the options given below :

1 (A, (C), (D)only (2) (A), ®), (E) only
3 ®B). D), E)only 4 (B), (C). D)only

Fafertaa =um glfew, -

(&) = R H UG Wifee 4 I 9 2

B)  FEEE Sk H T 8

(C) =u® % 39 WRE Bl 2|

(D) TEEEaeTd, TR I B 3

(E) e H well urt I 1 T AR 2

ﬁﬁﬁqwﬁ%ﬁﬁﬁ_mwwww%l

ey

(3

Fae (A), (C) 3 (D) (2) aE (A), (B) 3R (E)

Faa (B), (D) ¥R (B) @ F9 B), (C) 31 (D)

[Question ID = 1860][Question Description = Q55_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7437]
2. 2 [Option ID = 7438]
3. 3 [Option ID = 7439]
4. 4 [Option ID = 7440]

33) Read the following statements ;

(A) The heroines use 3auraseni in dramas
(B) The carudattam 1s a work of kalidasa

(C)  The first dramatic uses of prakrit 1s found in dramas of asvaghosa
(D)  The time of mrechakatikam is first centrury

(E) The hero in the dramas is not using prakrit language

Choose the most appropriate answer from the options given below :

1) (A). (C). (D) only 2y (@A), ®B). (D) only

(3) (A (C). (E) only (4 @A), D). (E)only

Ffofiga 5y T -
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() iE T H ATES AEEAT 1 TP 1G0T T

(B) I e BTG H Hid 7]
(C)  WrFdl =1 MM e TEM ITaEE % e ° e 2

(D) H=aBied B AR I T T B

(E) A2 § T4 WrHa 9T 1 A0 Tel A 8

T f2u o frmewi § © ey SUIE SR o =AA i)
(1) === Q). (C) 3k (D) (2) +aa (A), (B) 3K (D)

(3) Fad (A), (C) 3R (E) @) Had (A), (D) 3R ()

[Question ID = 186 1][Question Description = Q56_Prakrit_ SHAAN_NOV21]

1. 1 [Option ID = 7441)
2. 2 [Option ID = 7442]
3. 3 [Option ID = 7443]
4. 4 [Opticn ID = 7444)
°6)  Read the following statements and choose the most appropriate statement :
(A) In the dharmayatra started by Asoka, Brahmanas and Sramanas were visited and
given donation.
(B) King Kharavela, expert with special merits was respectul to all the sects.
(C) Monks were worshipped in the dharmayatra.
(D) Sects were collected at one place in the dharmayatra.
(E) The instruction has been given to end the harmony of one another in the ASokan
mnscription.
Choose the correct answer from the options given below :
1) Q). (B)only (2) (B), (E)only
(3 (D). (E)only (49) (O), A) only
Frefafaa = 98 R o= =i = =

(A) 1R g0 UREY SR 0 OSTE SR 00T W S 9 SR 2 feEr s g
B) T T THE T T6 HIGHE! 1 G o T 97

(C)  wvfmmn & ymoni i g=n =1 et off)

D) AP H FIIA U T S

(E) i % Iifer 0 endl Tter 1 T S e 2
ﬁﬁqw%ﬁﬁﬁﬁ@wwﬂﬁql

(1) a4 (A) 3R (B) (2) Faa (B) 3 (E)
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(3

ad (D) 3R (E) @ I (C) 3R (A)

[Question ID = 1862][Question Description = Q57_Prakrit_SHAAN_NOV21]
. 1 [Option ID = 7445]
. 2 [Option ID = 7446]
. 3 [Option ID = 7447]
. 4 [Option ID = 7448]

1
2
3
4

57)

Read the following statements and choose the most appropriate statement :

(A)

(B)

©

5

(E)

Kakkuka looked after his people like mother
Ghatayala inscription 1s inscribed in Sanskrit
Kharavela did not attack on Magadha

Ghatayala inscription 1s two miles away from Jodhpura

Kakkuka was like a teacher for children

Choose the correct answer from the options given below :

(1)

3

(A), (E) only (2) (D), (C) only

(C). (B) only (4) (A), (B) only

Faforfaa = w2 oflt wgt ot =t 77

(A4)

(B)

©

(D)

(E)

HFph - TS o UTe W AAH R

T ATE TG § Soh 2|

WRAT A WY W OGS T8l i o

T AAfieig sag @ 2 e gl W 2

FAGF TAl F (T8 & F TAF o1

Fr5 fou o fmedt © © W 3T W 99 Fifm)

(1)

(3

FaA (A) TR (E) 2) = (D) 3R (C)

Fad (C) 31 (B) @) Had (A) AR B)

[Question ID = 1863 ][Question Description = Q58_Prakrit_SHAAN_NOV21]

e L P —

58)

. 1 [Option ID = 7449]
. 2 [DOption ID = 7450]
. 3 [Option ID = 7451]
4 [Option ID = 7452]

Read the following statements and choose the most appropriate statement :

(&)
(B)

©)

(D)

The first ASokan inscription is related with animal protection
The word ‘Bharadhavasa’ 1s inscribed in the Hathigumpha inscription
Ghatayala inscription is in Pali language

Asokan inscriptions are inscribed in sansbrit

prepp
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(K) "Dharmamahamatya” word 1s not used 1n the Hathigumpha inscription

Choose the correct answer from the options given below :

1)  (®). (D) only 2 (A, (B)only

(3 (C), (A only (4) @A), (E)only
Frfofiaa =1 98 ok @ wel =i =
(A)  HHZ I UG e weiean g 3
B) Ay g weiEE At d Skl 21
(C) =2a sifyena areht 9T | 2)
D) T T B AW TEHd H IR B
(B)  zwefige sifiicie o yngmier g e T8 2

= fow u ferpedl 4 O o TR ST A Fifdu)

(1) Faw (B) 3R (D) (2) FFE (A) 3R (B)

™

(3 FFF(C) 3R (A) @ I (A) IR (E)

[Question ID = 1864][Question Description = Q59_Prakrit_ SHAAN_NOV21]
1. 1 [Option ID = 7453]
2. 2 [Option ID = 7454]
3. 3 [Option ID = 7455]
4. 4 [Option ID = 7456]

59) Read the following statements and choose the most appropriate statement :
(A) The Kharavela inscription is of 150 B.C.
(B) The Kakkuka inscription is inscribed in Apabhransa
(C)  Kharavela inscription 1s in Samskrit
(D)  ASokan inscription has been digged out from Kanya bumari
(E)  Asokan inscription is of thard century B.C.
Choose the correct answer from the options given below :
(1) (A), (B) only (2) (B), (C) only
3) (A, (E)only (4) (E). (D) only

Feteafiga =i ud 3 w8t =wuA1 = =

A T # e 150 .9, 2
B) FTIDH T O YN § Sh B

{e3) TaTdeA T VAT s 1 21
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-

D) AT T Al FATPAR I 2

®) T w o .Y, gaE =1 A 2

e fow e eyt A O T SR ST I i)
(1) #Ea (A) 3t (B) (2) =aw (B) 311 (C)

(3) Faw (A) AR (E) @) I (E) 3R (D)

[Question ID = 1865][Question Description = Q60_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7457]
2. 2 [Option ID = 7458]
3. 3 [Option ID = 7459]
4, 4 [Option ID = 7460]

o0} Read the following and choose the correct appropriate statements :
(A) Seventeen kinds of Samadhimarana are described in the Bhagawati Aradhana
(B)  Lafe of ten householders 1s described in the Dasavarkalhikasiitra
(C) ‘Javandho bujjhaim kunal akajjairn bahuyaim’ the statement 1s given by Vasunandi
(D)  ‘Anekanta’ is treated as the only Teacher of the world in the sammaisuttar
(E)  Jiva has been admitted as transitory in the Dravyasarigraha
Choose the most appropriate answer from the options given below :
(1)  (A).(C) and (D) only (2) (B). (D) and (E) only
(3  (C).(B) and (D) only (4) (D). (E) and (A) only

fetefian =i =t afgy sk wt famea i)

(A) WS STRIEAT B TR % 17 IR H a0H 2
(B) TSI A H G AT % S 90 2

(C) ‘Ul gIEE FIT IHSATS GATS, HIF AGAS B 2

(D) T HEEd H S Wi S = U T T FE T R

(E) zowduz § @ w1 S1ie 9E T 2

et T e forhel # W U I ST A S HifAC)

(1) = (A), (O) R (D) 2) =7 (B), (D) 3R (B)

(3) ¥ (C). (B) 3 (D) @ I D). (B) 3R (A)

[Question ID = 1866][Question Description = Qé61_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7461]
2. 2 [Option ID = 7462]
3. 3 [Option ID = 7463]
4, 4 [Option ID = 7464]
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61)

Read the following and choose the correct statements :

(A4) Drstivada. the source of Sauraseni jaincanons is accepted as an ancient text
(B) Six kinds of substances are described in the Dravyasamgraha

(C)  Initiation of king Nami is described in the Bhagawati Aradhana

(D)  'Logavijao' chapter 1s a part of the Dasvaikalikastitra

(E) There are 44 chapters in the uttaradhyvayanasitra

Choose the correct answer from the options given below :

&) (A) and (D) only (2) (C)and (E) only
3 (A) and (B) only (4) (D) and (B) only
Freferfiga =t =i ufew o == fompen gi)

(A)  TREAT SF SR TG 1 STUR giEe WA Ty AE ST 3
®) muE U9 T A W avA ol

(C)  Tad! SIIeAT 99§ g 917 i Sers=n =1 @i 2]

(D) ‘Arfasen’ T AT ST | 2

(B) SoueETga | Fe 44 399 7

1 2o 7o et O © T2 I @ =9I it
(1) %aa (A) 3R (D) 2) e (C) 3 (E)
(3)  Fa (A) 3R (B) @) a« (D) 31 (B)

[Question ID = 1867][Question Description = Q62_Prakrit_SHAAN_NOV21]

62)

e L e =

1 [Option ID = 7465]
2 [Option ID = 7466
3 [Option ID = 7467]
4 [Option ID = 7468]

Read the following statements and choose the correct statements :

(A) ‘No Hine no airitte’ - the statement 1s found in the Uttaraddhyayanasitra

(B) It 1s said in the Pravacanasar that he 1s éramana who remains stable 1n happyness

and sorrow
(C)  Preaching to protect six kinds of living beings is given in the Dasavaikahka
(D) 'Iechau agasasama anantiya’ — the statement 1s found in the sammaisuttam

(E)  Effect of seven addictions 18 described in the Vasunandiéravakacara

Choose the correct answer from the options given below :

prepp
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() (&) (C) and (D) cnly 2 (B).(C) and (E) only
3  (©), (D) and (B) only 4 (B). (4) and (O) only
frefafaa =1 75 oiv w8 = # 9h

@) ‘o Eio o s’ e IoUesE g 6 e

B  wEEER A w2 e A gE-gg | veeET T 2 a9 A 2
(C) wesiatmm $ ©n F6 5 39¢y TUdTers | 2

(D) ‘T8 ATTHEH AvifGAT - TRe TEHEHd ° U 2

(E)  Eod-=9841 % GRUIH1 = 9ol g SATaehran § 2

T 2o o famed § § wh I S wEe it

(1)  FHaa (A), (C) 3R (D) (2) = (B). () 2 (E)

(3) = (C), (D) 37 (B) (@) FaE (B). (A) 3R (O)

[Question ID = 1868][Question Description = Q63_Prakrit_ SHAAN_NOV21]
1. 1 [Option ID = 7469]
2. 2 [Option ID = 7470]
3. 3 [Option ID = 7471]
4. 4 [Option ID = 7472]

53) ' Read the following and choose the correct statements :
(A)  Apabhramséa is the language of Paumacariu
(B)  The division of Paumacariu is 1n Sandhis
(C)  The period of Paumacariu is 9%t C.E.
(D) The author of Paumacariu is Vimalsam
(E) The Paumacariu is a sporadic poetry
Choose the most appropriate answer from the options given below :
(1) @), (B) and (C) only (2) (@A), (D) and (E) only
(3)  (C). (D) and (E) only (9 (B), (D) and (E) only
frafafias =t ¢ it w2t =t =1 = = -

(A)  TeHEs i W aET 2
(B) TewANS W fawrem wit= § 2

(C) w=H=IE = =R Odff warsd] 2

(D) TSHEIS % oG Herhid freEi 3|

(E) uSHaiE qods Hed 3
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it e g fempeat F @ as@ 39T SOT 1 WA il
(1) a9 (A), (B) & (C) (2) Fa= (A), (D) 3R (B)

(3) %9 (C), (D) ¥R (E) @ Fa9 (B). (D) 3R (E)

[Question ID = 1869][Question Description = Q64_Prakrit_ SHAAN_NOV21]
1. 1 [Option ID = 7473]
2. 2 [Option ID = 7474]
3. 3 [Option ID = 7475]
4. 4 [Option ID = 7476]

64
} These prakrit authors have been mentioned in the Kuvalayamala Kaha

(A)  Sayvambhava Acarya
B Padalipta Sari

(€)  Silanka Carya

(D) Gunadhya

(E)  Hala Kavi

Choose the correct answer from the options given below :

1 (A). (B) and (C) only (2) (A), (C) and (E) only

(3  (B. (D) and (E) only (4 (B), (C) and (D) only

FATANTAT el § 3 YT SiGwhial Svoid foe 7 #

(A) T=Ha SEE

B Rl
(C) fterer=md
(D)  TomeA

(E)  wiorpid

=1 feu U eyt |§ ¥ @ 39 w1 9ue Fifog|
()  F=a (A). (B) R (C) (2 I (A), (O) 3R (E)

(3) FaE B). (D) #r (E) @ %3 (B), (C) ¥R (D)
[Question ID = 1870][Question Description = Q65_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7477]
2. 2 [Option ID = 7478]

3. 3 [Option ID = 7479]
4. 4 [Option ID = 7480]

65) Match List I with List IT ;

List I List IT

(&) Visa () absolutive participle
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(B) agasi (I) numeral adjective
(C) devesunto (ITT) past tense
(D) gantana (IV) ablative plural

Choose the correct answer from the options given below :

(1 (A)-IID. (B)-dV). (O)-ID. D)-D

(2) (A)-AV). (B)-dD. (O)-ID). (D)-D

(3 (A)-dD, (B)-(IID), (C)-(IV). D)-D)

CY) (A)-0). B)-(ID. (C)-1ID. (D)-AV)

Tehi-1 % wy G-I = frem Hifw -
-1 Fei-11

(A) = iEr D gE=Ie® Fad
(B) Tl (ID) el fEb
(©) g (D) e
(D) T (IV) w1 sgaer

H fou o Tt 4§ OE ST 1 99 it

(1
2)
(3)
4)

(A)-(ID). (B)-IV). (C)-1D), (D)-()
(A)-(IV). (B)-(ID), (C)-IID, (D)-(I)
(A)-(II). (B)-(IID), (C)-AV), (D)-(D
(A)-(D). B)-(ID. (C)-AD), (D)-(IV)

[Question ID = 1871][Question Description = Q66_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7481]
2. 2 [Option ID = 7482]
3. 3 [Option ID = 7483]
4, 4 [Option ID = 7484]

66)

Match List T with Last IT :
ListI List II
(A) Bhamya (I) sandl
(B) Vanarasl (1) anaptyxis
(C) khila (III) metathesis
(D) gidhoyara (IV) aspiration

Choose the correct answer from the options given below :

(1)
2
3
@

(A)-D. B)-AV), (C)-(D, (D)-(II)
(A)-1D, (B)-D). (O)-0AV), (D)-dI)
(A)-(ID. B)-WD). (C)-(IV). (D)-D)
(A)-Av). B)-(D. (C)-AID. (D)-AD)

Your P
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-1 % e g1 =1 fiem Hifse -

n

-1

(A) Wi
(B) =momeHT

(©

I oo 7o famedt § © =31 591 F1 =9 #ieT

(1)
)
(3)
@

effer
(D) TErT

(A)-aD), B)-(IV). (C)-(D). (D)-AID
(A4)-(1D), (B)-D). (O)-@V), D)-aAD
(&)-0D), (B)-(ID. (CO)-IV), D)-(D
(A)-AV). B)-(). (O)-AID. (D)-AD)

[Question ID = 1872][Question Description = Q67 _Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7485]
2. 2 [Option ID = 7486]
3. 3 [Option ID = 7487]
4, 4 [Option ID = 7488]

67)

-1 % Ty gei-11 = frem i -

&)
(B)
(©)
(D)

A v u foemedt A O o) Se W 9 i

Match List I with List IT :

ListI
(A) angasfitra
(B) miulastfra
(C) cheda sitra

(D) prakirhaka sttra

List IT

(I)) nisitha sttra

(I’ marana samadh
(III) prasnavyakarana

(IV) avasdvaka siitra

Choose the correct answer from the options given below :

@1  (A-AV). B)-UD. (O-AD. (D)-D)
2 (A-dID). B)-IV). (C)-M), D)-(IT)
3  (AdD. B)-@. (O)-AV), (D)-AID)
@  (A-O. B-AL). (O)-IV), (D)-ID)

=1

=11
D i g
D) = Ty

D) TsT=a=wm

AV) AT

Your P
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(D
@
3
€3

(A)-AV). (B)-ID. (O)-(1D. (D)-d)
(A)-(I1D. B)-AV), (O)-@), (D)-1D)
(A)-ID. B)-D). (O)-(IV). (D)-(ALI)
(A)-@). B)-(II), (C)«IV), (D)-(1T)

[Question ID = 1873][Question Description = Q68_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7489]
2. 2 [Option ID = 7490]
3. 3 [Option ID = 7491]
4, 4 [Option ID = 7492]

68)
Match List I with Last I1 :
List I Last IT
(A) ahakkhaya (). magadhi
(B) nomallia (I) apabhramsa
(C) kamval (III) ardhamagadhi
(D) sastavahe (IV) maharastr
Choose the correct answer from the options given below :
1y  @A-am, B)-av), (O-dm), (D)-D)
2y  (A-ID, (B)-D, (C)-(IIL), M)-IV)
(3) A-O. B-AI). (C)-(IV), (D)-(I)
4  (A-aV). (B)-ID), (O)-(@), (D)-I1I)
-1 % wa gh-I1 =1 fiem Hifse -
-1 il
(A) EFEE (D ww
(B) wimfgen AD) TEw
(C) e (IIT) sremmret
D) w=ER (IV) WERTH
= fow e oot § @ @t Io o 9Ee Hifau
1 A-AID, B)-AV), (O-dn, (D)-D)
(2) (A)-(ID). (B)-(D. (O)-ID), (D)-AV)
3 (A-O. B-AID. (O-aV), M)-1D)
@  A-aV), (B)-IL), (C)-D, (D)-I1D)

[Question ID = 1874][Question Description = Q69_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7493]
2. 2 [Option ID = 7494]
3. 3 [Option ID = 7495]
4. 4 [Option ID = 7496]

69)

Match List T with List IT :

List I

List IT

Your P
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(A4)
(B)
©
(8

setubandha
kuvalayamala
IHlavai

dvyasrayakavya

('  Uddyotanasturi
(II) kothala
(III) hemacandra

(IV) pravarasena

Choose the correct answer from the options given below :

8y
2
(3
@D

(A)-(1D). (B)-IV), (O)-1D. (D)-(D)
(A4)-dD). (B)-(IID). (C)-(D. (D)-AV)
(A)-0. B)-ID), (C)-(ID), (D)-IV)
(A)-(AV). (B)-(D. (C)-1D), (D)-(ID)

A1 % Ty g=A-11 1 e =fifs -

TEi-1

(A HIETY

(B) pacEHE
(C) e

(D) AT

4 2w o ferreat A o ) SOt = 9= i

(1)
2
(3
€3

(A)-ID). (B)-IV), (O)-D). (D))
(A)-(ID. (B)-(ILD), (C)-(D). (D)-(IV)
(A)-(I). (B)-(ID), (C)-(IID). (D)-V)
(A)-AV). (B)-). (C)-0D), (O)-(II)

[

@O e
@ wweEa

) =Toag

V) wawA

[Question ID = 1875][Question Description = Q70_Prakrit_SHAAN_NOV21]
1. 1 [Option 1D = 7497]
2. 2 [Option ID = 7498)
3. 3 [Option ID = 7499]
4. 4 [Option ID = 7500]

70)  Match List I with List IT -

(A)
(B)
©)
D)

Last I

Giranara
kumariparvata
ghatayala

mathura inscription

List TI
(D kharavela
(I) Asoka

(ID) Uttaradasaka éravaka

(IV) kakkuka

Choose the correct answer from the options given below :

(1)
2
(3)
(4)

(A4)-aD, B)-(D. (O-IV). (D)-1D)
(4)-a1Ih, (B)-dD, (O)-AV), D)-@
(&)-aV). (B)-(IID), (O)-(D). M)-(1D)
A)-@. B)-AV), (O)-AD). (D)D)

Your P
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qyl-.l. = HIE l'g'-'-ll-_'l_[ = IHCTIA iy -
AT
(A FrEw
®) pEdE

(C) =A™

D) wyu

= g e fomedt § 7 TE I H T i

1)  @-AD. B)-O. (O-IV), (D)-d1D
2  @-an, (B)-AD, (O-IV). M)-O)
(3)  @W-AV), B)-ID, (C)-@). (D)-AI)
@ @W-O. ®-AV), (O-aD. O)-11D

il
@O @ Ed
(D) =

[Question ID = 1876][Question Description = Q71_Prakrit_SHAAN_NOVZ21]

1, 1 [Option ID = 7501]
2. 2 [Option ID = 7502]
3. 3 [Option ID = 7503]
4. 4 [Option ID = 7504]

71)

Match List I with List II :
ListI List IT
(A) Prabrita laksana () alamkara
(B) rayanavall (I) chandah
(C) alamkaradappana (III) Vyakarana
(D) prakrit paingalam IV) kosa
Choose the correct answer from the options given below :
1  @-AV). (B)-AI), (C)-ID. D)@
@  ®W-a, ®-O, (O-ID, (D)-aAV)
(3) (A)-111), (B)-IV), (C)-@), D)-(ID
@)  A-O. B-AID. (C)-AV), D)-dD
-1 & =y -1 =1 e i -
i1 g1
(A) TTPd-TTA ORI e
B) THIEEd an =
(C) TR0 (D) ==
(D) SR, avy =

Hr= faw o Rrreut § § w4 3R W ==e i

Your P
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(1)
2
3
4)

(A4)-@V). (B)-(ILD, (C)-(D), (D)-(D)
(A)-aD). (B)}-(D. (O-ILD. (D)-AV)
(A4)-(ID, (B)-AV). (O)-M). D)-(1ID
(4)-(@, B)-dI), (C)-AV). (D)-(IT)

[Question ID = 1877][Question Description = Q72_Prakrit_SHAAN_NOV21]

1. 1 [Option ID = 7505]
2. 2 [Option ID = 7506]
3. 3 [Option ID = 7507]
4, 4 [Option ID = 7508]

72)  Match List T with List II :
Tiast I List IT
(A) Kappuramanjari (D 14thce
(B) rambhamanjari (I) 18%c.e
(C) singaramanjari (IIl) 17™c.e
(D) candaleha (IV) 10tc.e
Choose the correct answer from the options given below :
1  @A-av. (B)-O, (O-dD, D)-I1D)
(2) {(A)-(I1D), (B)-AV), (O)-(1). (D)-(1D
3  (A-AID. B)-dD. (CO)-D. (D)-AV)
4  A-ID, B)-aV), (O)-M), D)-TD
HAi-1 % Wy FA-I1 =1 fiem ik -
el TH-I0
(A)  FHoRES (D 1448 @t
B) Tamed D) 18 wad
(€ FrmEsh (I 17 @
(D) o V) 1047 =
= fow o femreat o O @l <o w1 = Fifsw
1 A-av), ®)-D, (C)-an, O)-d11I)
(2) (A)-(11), (B)-AV), (O)-(D). (D)-(1D
(3) (A)-AID), (B)-AD. (O-(D). (D)-AV)
4  A-0H, B-Iv), (O-M, D)-d1I)

[Question ID = 1878][Question Description = Q73_Prakrit_SHAAN_NOV21]

1. 1 [Option ID = 7509]
2. 2 [Option ID = 7510]
3. 3 [Option ID = 7511]
4, 4 [Option ID = 7512]

73)

Match List T with List IT :

Tast I

List IT

Your P
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(&)
(B)
©
(D)

Dravyasangraha
Bhagavatia radhana
Sammaisuttam

Dasavaikahika

(1) Sayyuhbhava
(I) Nemichandra
(II) Sivarya

(IV) Siddhasena

Choose the correct answer from the options given below :

(D
@
(3)
4)

(A)-A1D). B)-0). (C)-(AV), (D)-(1I)
(A)-O). B)-(IV). (O)-AD, (D)-ALD
(A)-a@V), (B)-(IL), (C)-(D), (D)-(IID)
(A-ID, (B)-I1D. (C)-AV). (D)-(I)

T=A-1 % W gH-11 =1 e Hifer -

4= fau o fomeut § 9 wE I = 9aT Fif

-1

(A) THEHE

(B)

(C) w=I=gd
(D) TIHITH

(1)
(2)
(3)
4)
[Question ID = 1879][Question Description = Q74_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7513]
2. 2 [Option ID = 7514]

3. 3 [Option ID = 7515]
4, 4 [Option ID = 7516]

74)

(A)-(I1D), (B)-@). (O)-AV), (D)-ID
(A)-D. (B)-AV), (O)-AD), (D)-(I1L)
(A)-@AV), (B)-(I1). (C)-(D), (D)-(I1L)
(A)-I1), (B)-(1D, (C)-AV), (D)-(D)

Match List I with List IT :

List I

(A) Rajasekhara

(B) Mahiakavi Puspadanata

(C) dJayvavallabha

(D) Uddyotanasan

O e

(D) -fimEeg
(1D fiem

List IT

() duwihalankare vipphuranti, Inla
komalaim payaim dinti

(II) paivakavvassa namo paiyakavvam ca
nimmiyam jeha

(1D Atthau hou anatthau. kamo vi galanta
pemma — virasao va

(IV) so sattao tta bhannai, dioram jo
nadiyaim anuharai

Choose the correct answer from the options given below :

(D
@
(3
(4)

(A)-(D. B)-IV), (C)-(1), (D)-(ID
(4)-(ID), B)-(I1I), (C)-AV), (D)-(D
(4)-(I1D), (B)-(11), (C)-(D), (D)-(IV)
(AY-(TWV). (B)-(D). (C)-(ID). (DY-(IID

Your P

repp
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gefi-1 % w1 gEh-I1 1 fierm ifs -
Ll aei-1I
(A) THIET O shrer o=, demmmers = )
B) HETHETHET (A1) TTEEH=RE Ui, TEFFed = e S|
(C) sHaeay (1) 8 TS oS, M 3 Tea-4s-
formaT =
D) SEEEE (V) = wgett T wwwrg, g < i ST

= fiv T el § O wE ST W 999 i

(1)
()
(3)
C))

(A)-@), (B)-(TV), (C)-(ITT), (D)-(ID
(A)-AD). B)-AID), (O)-AV). O)-O
(A)-(TD), (B)-AD, (O)-(D. D)-V)
(A)-@V), (B)-(D, (C)-(T), D)-(I1D

[Question ID = 1880][Question Description = Q75_Prakrit_SHAAN_NOVZ21]
1. 1 [Option ID = 7517]
2. 2 [Option ID = 7518]
3. 3 [Option ID = 7519]
4. 4 [Option ID = 7520]

FATS)

Read the following and arrange in chronological order from early to later period.

&)

®)

©)

D)

(E)

Inscriptional Prakrit
Maharastri
Ardhamagadhi

Sauraseni

Apabhramsa

Choose the correct answer from the options given below :

1

(3

&) B) M) ©) (E) 2) B ) QO E) D)

(A) (C) (D) (B) (E) @ (©) A D) E) B

Ffafiga =i ud 31 32 Qe O ST A & wH ¥ ST B

(A)

(B)

(©)

(D)

(E)

AT T

TERTSE

Your P

repp
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4 f3u T el § o TE SO B 98 Fie

W @B DO E 2 B@OEMDO
3 @O D G E @ ©O@ D E®

[Question ID = 1881][Question Description = Q76_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7521]
2. 2 [Option ID = 7522]
3. 3 [Option ID = 7523]
4, 4 [Option ID = 7524]

76)  Read the following and arrange in order of their case and number :

(A) deva
(B) vanam

(C) savvesim
(D) tamm

(E) wvacchena

Choose the correct answer from the options given below :

1)  @WE O G D 2 E® O D)W
() (O E G D 4 B @A) E)©C) D)

Fferige =i w8 3R 3= faufe it auq & san =it +i)

VI Gl

B

(© w=fh

D) afw

(E) ==3u

Fi=t fer e fempeat d ¥ @@ I =R == Hifew

1) @ E)C)®B D) 2 (E)®B)©) D) A
3 (O @ E) B D) @ B ®E OO

[Question ID = 1882][Question Description = Q77_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7525]
2. 2 [Option ID = 7526]
3. 3 [Option ID = 7527)
4. 4 [Option ID = 7528)

7} Arrange the following chapters of uttaradhyayana siitra in order :

(A) namipavvajja

=] kaci.ontamiva
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T

(C)  citta-sambhuti
(D) yajfilya

(E) vinaya

Choose the correct answer from the options given below :

1 B D) E A @ (D)@ B (E)

3 (EA) O ®) D) 4 (&) (E) D) B O

STUEIEE T % i st @ e fod)

(A)

(B)

(©)

D)

(E)

L

ST
-
Fom-sif
i

{oLo)

A fou o fommeTt ° o gl 39 W 9Ee Hifa

(1

(3)

B) (C) D) (E) (A) 2 O D)@ E
(E) &) (O) (B) (D) 4 &) E) D) ®)©)

[Question ID = 1883][Question Description = Q78_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7529]
2. 2 [Option ID = 7530]
3. 3 [Option ID = 7531]
4. 4 [Option ID = 7532]

78)

Arrange following words according to case ending :

(A)  jinesu
B  jinam
(C) jinae

@)  jinena

(E) jnto

Choose the correct answer from the options given below :

1) (0. E), D). B), (A) 2 @A), (€, B). D), (E)
3@ ®.0) 0. E. & @ (E), B). (). D) @A)

1 weal i HRH = FATIR =afe = -

Your P

repp
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CsVIR AL

® o

(€

®) fom

E) fonen

et fau e faeai A o wE 3T W T T

1) (O, E). D), B). (&) 2y @), ©). B). D), (E)
3  ®. D). . E. A @ &, ®). ). D) AW

[Question ID = 1884][Question Description = Q79_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7533]
2. 2 [Option ID = 7534
3. 3 [Option ID = 7535]
4. 4 [Option ID = 7536]

43} Arrange the following authors in chronological order : (from early to later period)

(A) anantahamsa
(B) vimalasar

(C) dhaneévarasur
(D) devendrasin

(E) laksmanagani

Choose the correct answer from the options given below :
1 ®. ). E) D). A 2) (E). (O). (B). (A). D)

(3 D). E.B). A ©) 4 (D), (). (A). (E). (B)

Freforiga TuPr = FeErAHER =aied T - (TRY ° 7% % %A °)

@A)
®  fEmef
(©)  wTER
D) TR
(E) <%

= few o fompeat ¥ @ wEl oo = wAq Hifs

(1)  ®B), ©), E), D), A) 2) (B, (©), [®), 4), D)
3 D). (E),®.A). O 4 (D). (C). (A), (E). B)
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[Question ID = 1885][Question Description = Q80_Prakrit_ SHAAN_NOV21]
1. 1 [Option ID = 7537]
2. 2 [Option ID = 7538]
3. 3 [Option ID = 7539]
4. 4 [Option ID = 7540]

80) Arrange the following authors in chronological order — (from early to later period) :

(A) Jnaharsastri
(B) maheévarasiri

(C) mahendrasitn
(D)  haribhadrasiri

(E) paumacandasur

Choose the correct answer from the options given below :
(1) (C).E. D). ®B). A 2 B, (O), (E). (A), D)
@ D.B).0 E).W @ (E). A, (C). D). (B)

frfafiaa TRl i FeEAIIER Saem - (TRY ° =% & %A H)

A ey

® vl

©) TR

D) g

E) wEeEyR

I fou o famodt O © = o =1 99 #ifw

O (©.E.D.G. @ @ B, ©). ®. @), O
® . ®.©.®E. @& @ (B). Q). (). D), B

[Question ID = 1886][Question Description = Q81_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7541]
2. 2 [Option ID = 7542]
3. 3 [Option ID = 7543]
4. 4 [Option ID = 7544]

B1)  Read the following and arrange them chronologically from early to later period.

(A) pailvalacchinamamala

(B)  prakntpaingalam

(C)  vrttajatisamuccaya

(D)  kawvidarpana

(E) ravanavall
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Choose the correct answer from the options given below :

1 @D.B. A, E). ©) 2 (A). D), (C). (B), E)

3 (O), A, (E), D), B) 4 (B), ), A), E), D)

fifRa oot 1 gdadl o SRl 9 H 3% FIenhy Ht HEir &)

(A)  TEAAEHTETEN

(B) ST

(C) Faenioug=T

@) e

(E) v

“frat fow e fomret & ¥ WA v A < AR

O @O ®) @, E,(© @ (@), D). (). ®). ®
®  (©. &), ®. D). ® @ (B (©). (). (E). D)

[Question ID = 1887][Question Description = Q82_Prakrit_SHAAN_NOVZ21]
1. 1 [Option ID = 7545]
2. 2 [Option ID = 7546)
3. 3 [Option ID = 7547)
4, 4 [Option ID = 7548]

B2 i : ) ;
) Read the following and arrange than in chronological order from early to later period :

(A) hemacandra
(B) vararuci

(C) canda
(D)  trnvikrama

(E) markandaya

Choose the correct answer from the options given below :

1 ®.(). D). E), &) @  (©). ®). (A), (D), (E)
3 @®.D.B). . O @ @AW.®. O 6. DO

Prenifea TrerRrl =t e T ITad] SHIAshITIER ST 0 e )
@) ¥

B) =+
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© ==
D) T
(E)  ATHveH

H= i v eT 9 © mE SR 1 99 FiRT

1  ®. 0.0 E. A 2) (), B). A). D). E)
3 (E). D). B, A). (O @ A @), (O (E), D)

[Question ID = 1888][Question Description = Q83_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7549]
2. 2 [Option ID = 7550]
3. 3 [Option ID = 7551]
4. 4 [Option ID = 7552)

83)  Read the following texts and arrange in chronological order from early to later period :

(A) Vasunandiéravakacara
(B) Sammaisuttam

(C) Dravyasamgraha

(D)  Acarangasutra

(E) Pravacanasara

Choose the correct answer from the options given below :

1  (E.(©O). D). B)and &) (2 (©), (E). (A4), (D) and (B)

(3) (D). (E). (B), (C) and (&) 4 Y. (0), (E). (D) and (B)
FreTitena o=l 1 9 TR o O STRadl wewd § 39 Tal 5 ° @

e

(B  IgARHEHER

B) H=Egd
(C) ooawms
D)  HAEET

(E) P E LI

Frat fou o fmeut O © TR ST W 9E I

1) (E), (O). D). (B) I (A) 2 (O, (E). (A). (D) 3R (B)

3 D), E), ®), O @) @ (4), (C), (B), (D) 5k (B)

[Question ID = 1889][Question Description = Q84_Prakrit_ SHAAN_NOV21]
1. 1 [Option ID = 7553]
2. 2 [Option ID = 7554]

| 3. 3 [Option ID = 7555]
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| 4. 4 [Option ID = 7556]

84)

Arrange the following works in chronological order — (from early to later period) :
(A)  Titthayara Bhavana
B)  Kappuramaijari

(C) Kuvalayvamala kaha
(D) Setubandha

(E) Paumacariu

Choose the correct answer from the options given below :

O @A B, ©), E). D) 2 (©), D). ). (E), (B)

@ D). ). B, &), (E) @ @.©.E.®.@W

Fafafaa Hiwt =1 18 1R FemraEen =aftrg - (e ¥ oF 48 % %4 °)

(A)

(B)

©)

D)

(E)

faew wram
FOLETI
BATHHTATRET
TS

TSNS

= fRu o fameat § O TEt SR gue Hie

ey

(3

&). (B). (), (E). D) 2 (©), D). Q). E). B)
D). (C). (B). (A). (E) @ @M. ©).E.®.&W

[Question ID = 1890][Question Description = Q85_Prakrit_SHAAN_NOVZ1]
1. 1 [Option ID = 7557]
2. 2 [Option ID = 7558]
3. 3 [Option ID = 7559]
4. 4 [Option ID = 7560]

85)

Given below are two statements : one 15 labelled as Assertion A and the other 1s labelled as

Reason R
Assertion (A) : Muitreya converses in saurseni in mrucchakatikum
Reasons (R) : According to Aclirva Bharata vadiisaka uses Saurseni in drama.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

prepp
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(1) Both A and R are correct and R 1s the correct explanation of A

(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 18 correct but R 1s not correct

(4) A 1s not correct but R is correct

T q F T TR T : TF ANTHY (Assertion A) F ¥ W fflg & T 380 W% w0 (Reason R) F
'{m":[ﬁ:
AT (A) :  gewiedd d B el § Harg war 2l

F10T (R) : AT R H AR TeH A g AREt # TE w2

SR FUA % e °, e fGu e e 3 o w sages SW W W il
D) Q) IR @® I TR T AR ®). (A) F wdl = 2

@ @ R ®) I D E, = ®), Q) wd e T o2

(3 (A E Rl R) 9 7 2

@ (&) 7E T 2 T (R) TE 2

[Question ID = 1891][Question Description = Q86_Prakrit_SHAAN_NOV21]
. 1 [Option ID = 7561]
2 [Option ID = 7562]
3 [Option ID = 7563]
4 [Option ID = 7564]

Ja L P2 —

B . 3 : :
L Given below are two statements : one 1s labelled as Assertion A and the other 1s labelled as
Reason R
Assertion (A):  Uttiviseso kavvam bhisa ja hou s hou.

Reasons (R) : Nayacandra has characterised the nature of drama in above statement.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 1s not correct but R 1s correct
= 7t o fiw o R uw fERE (Assertion A) % ¥ W fAfgd T A 950 36 wnw (Reason R) %
Y

IR (A) ;.  SHEEE! we T S Eis 91 EE)

=10 (R) - g A d'-iéth YA T ATeH 1 TR Tl 2
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ST A % I H, A fGu T e § ¥ e swgen S W W i

(D

2

(3)

(4

(A) 31K ®) T wE F 2R R). (A) F 7 = 2
(A) s R) 2 w4 2, <f (R), (A) 1wt =men 446 2
(A) T31 2 oifeT (R) w2t 181 2

(A) TEl TE 3 @i (R) =& 2

[Question ID = 1892][Question Description = Q87 _Prakrit_SHAAN_NOV21]

P old I

87) Given below are two statements : one is labelled as Assertion A and the other 1s labelled as

1 [Option ID = 7565]
2 [Option ID = 7566]
3 [Option ID = 7567]
4 [Option 1D = 7568]

Reason R

Assertion (A):  palyasaddamahannavo is a modern and useful dictionary.

Reasons (R) : The lexicographer has included maximum of words with reference.

In the hght of the above statements, choose the correct answer from the options given below :

(D
(2
(3)
4

Both A and R are true and R is the correct explanation of A
Both A and R are true but R 1s NOT the correct explanation of A
A 1s true but R 1s not false

A is not false but R is true

H= 1w U T 2 OF S (Assertion A) ¥ ¥ W fflgd 2 @ T80 38 FW9 (Reason R) F

@
=y :

AR (A): TEsTHENEvIE TR Sy ofR SwEnl wee wim )

1 (R) : FITHR A TOH AT Y62 FT T go=ed 5 2|

IURE A % e H, A9 Ry 1 et § 3 v sagws so W = #if

(L

(2)

3

4

(A) 31T R) g1 @7 3 2Rk (R). (A) F @&l =en 21

(A) TR (R) It WA 3, wf (R), (A) Ft w1 = 7 2

(A) Ted & wiled (R) #15cT 2

(A) 379 & a1 (R) 7 3|

[Question ID = 1893][Question Description = Q88_Prakrit_SHAAN_NOV21]

Ja L 2 4

88)

. 1 [Optien ID = 7569]

2 [Option ID = 7570]
. 3 [Optien ID = 7571]
. 4 [Option ID = 7572]

Given below are two statements :
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Statement I : The script of King Kharavela mscriptions 1s Brahmi.

Statement II:  The Hathigumpha inscription describes the deeds of the king.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I1 are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1s false but Statement I1 1s true
et 2 o fu e #
F () : T T Hfera $ At sl 2

97 (D) ; il sifieiE T % HE AU a2

mw%mﬁﬁ,ﬁﬁqwﬁwﬁﬁﬁaﬁ—mmwﬁﬁm
(1) = @) 3R AD I 7 2

2 = @) R AL I AEeT 7

(3) F (DT 2, A TR (1) 316 2

(4)  =IT (D) A9A & Al waa (D) OeF 2]

[Question ID = 1894][Question Description = Q89_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7573]
2. 2 [Option ID = 7574]
3. 3 [Option ID = 7575]
4. 4 [Option ID = 7576)

8o ;
) (Given below are two statements :

Statement I : Samavika, stavana., vandana, pratyikhyana. pratikramana and
kayotsarga-These are included in Avagyaka duties of monks.

Statement II:  The Avaéyaka duties are related with basic merits of monks.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II is incorrect
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(4) Statement I 1s incorrect but Statement II 1s correct
% 31 oA fiu o &
%7 (D W, e, 95T, oI, STa®mol a3 HrEed o H9 5 STayT® Haoal
T wfeafaa )
U (D) : 4990 % G 90 o AETTH HasAl B qEEY

STUH Y P el |, {9 g g et 4 ¥ wew suge IR F 99 i)

1)  FF @) R A I T2
@  FoF (D R 7D I T A
(3)  ®Y (D Tel 8, Wik = (1) T 2

(@) =9 @) e 2 ofer e (1D T 2

[Question ID = 1895][Question Description = Q90_Prakrit_ SHAAN_NOV21]

1. 1 [Option ID = 7577]
2. 2 [Option ID = 7578]
3. 3 [Option ID = 7579]
4. 4 [Option ID = 7580]

90)

The author of Milacaru is
(1) vattakera (2) é&wvarya
(3) yvativrsabha (4) gunadhar
AR = 1 8 -
H = 2 FwEr
(3) =gy 4 T

[Question ID = 1896][Question Description = Q10_Prakrit_SHAAN_NOV21]

1. 1 [Option ID = 7581]
2. 2 [Option ID = 7582]
3. 3 [Option ID = 7583]
4. 4 [Option ID = 7584]

Topic:- 91PRAKRIT_B

prepp
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1) Read the given passage and answer the questions that follow (91-95) :

Taheva pausasamao vi pa jetthasamihim susaho, jaya vasenti pa ovaha, jaya-taya havanti
pacchanna ravivimbiéni duddipani. hiayamkampiam kunemani vijjoai vijju. Gadagadayamano
kannamiilam bhindei puna thaniasaddo. Picchila havanti vattanio. Savedo vahanti ninnafo.
abbhantario vi akko aiva antarapgagimhimam anpuhavavel
juvaijanavirahio ecifthium khamo? Vihiparatanto pauttho w1 kol
rattidiaham. Ukkitthamantavveanam manei kai pavasiabhattia ‘piu-piu’ tt1 pappihasaddena

plam samsaremanl manini.

As per the passage the meaning of the word ‘Jetthasamihim’ is

(1)  Dates of the jyestha month

(2) Youngmen of the same age
(3) Householders, the superior stages of life
(4) Meditaters

tammi ko suhi
giham sambharel
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e e ey i e fau T wvEr % I ffe -

aed wewEmal fa m SgredifE gua, S gl gstawn, s gl st gfegonfn feem
Hus Fom faaren s TereE o weme i qu uftrregn fifser safa awofien) sEemer
Tl fREwEd wen 9 w3 Fr T e, ShEgiaseln AR AR TEmdmen  We-fe f

aodfizasy fist geramfi mifef

A STT0S % ATER SETEHiE W 31y B -

(1) =3 amg = b (2) THE 7 % IaF

(8) TS SHHATS TEEH 4) ©IH FH aE

[Question ID = 1897][Question Description = Q91_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7585]
2. 2 [Option ID = 7586]
3. 3 [Option ID = 7587]
4. 4 [Option ID = 7588

2)

Read the given passage and answer the questions that follow (91-95) :

Taheva pausasamao vi pa jetthasamihim susaho, jaya vasenti pa ovaha, jaya-taya havanti
pacchanna ravivimbiéni duddipani. hiayamkampiam kunemani vijjoai vijju. Gadagadayamano
kannamiilam bhindei puna thaniasaddo. Picchila havanti vattanio. Savedo vahanti ninnafo.
abbhantario vi akko aiva antarapgagimhimam apuhavaver jau, tamm ko suhi
juvaijanavirahio cifthium khamo? Vihiparatanto pauttho vi kol giham sambharel
rattidiaham. Ukkitthamantavveanam manei kai pavasiabhattia ‘piu-piu’ tt1 pappihasaddena
plam samsaremani mamni.

As per the passage, the word Picchila’ means

(1)
(3)

mud (2) back portion
tale (4) sun

AHifeAfad =y i gfeT IR 9 feu e uvar % I S -

T5a TREEEl & W STl gEel, 9 TG 9T, S 94 safd Togvn-eE giegen faerd
Hiuai FoEt freer fregl ToTsE TR wvge s g ufteoegn fesen wafy awofist @
aul| faRwda e o wr e owg dofkem. sheguasiom amir =r gafiwsn fie-fe’ fa
aoftEaeor st gerami Aifvmf

TG 3TTwaE % AFER fufegen weg # a9 2 -
1  HEs @) foe am
@ U @

[Question ID = 1898][Question Description = Q92_Prakrit_SHAAN_NOV21]

1.

1 [Option ID = 7589]

2. 2 [Option ID = 7590]
3. 3 [Option ID = 7591]
4. 4 [Option ID = 7592]

3)

Read the given passage and answer the questions that follow (91-95) :

Taheva pausasamao vi pa jetthasamihim susaho, jaya vasenti pa ovaha, jaya-taya havanti
pacchanna ravivimbiéni duddipani. hiayamkampiam kunemani vijjoai vijju. Gadagadayamano
kannamiilam bhindei puna thaniasaddo. Picchila havanti vattanio. Saveao vahanti ninnaso.
abbhantario vi akko aiva antarapgagimhimam apuhavavel jau, tamma ko suhil
juvaijanavirahio ciffhium khamo? Vihiparatanto pauttho vi koi giham sambharei
rattidiaham. Ukkitthamantavveanam manel kai pavasiabhattia ‘piu-piu’ tt1 pappihasaddena

prepp
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p1am samsaremanl mamni.
Asper the passage, this prakrit word is used for cloud

(1) Vattanio (2) Ninao
(3)  Akko (4 Paovvaha

araifafga e # 9fey i Fi fiw e v % I e -

agd wrswemal fa o SgrdifE gus, S g gstiawn, sE e gafy ssavo-deenfin gfegonfin frem
Hfusi pomfnn fasior fas) erem won wvonge fidg gu uPrmeg fifesar zafe aafier) saeme
Tl faftwad e @ wr R oag dofeer. Shrgrasien A #5 waibafen fe-fe’ f
srftgaem et aermmft mfvrfi

T WI=9e °H e b o 7 HTehd 16 T 2 -

(1)  aoofist (2) fomovaman

(3) (4) T

[Question ID = 1899][Question Description = Q93_Prakrit_SHAAN_NOVZ1]
1. 1 [Option ID = 7593]
2. 2 [Option ID = 7594]
3. 3 [Option ID = 7595]
4. 4 [Option ID = 7596]

4)  Read the given passage and answer the questions that follow (91-95) :

Taheva pausasamao vi pa jetthasamihim susaho, jaya vasenti pa ovaha, jaya-taya havanti
pacchanna ravivimbani duddipani. hiayamkampiam kunemani vijjoai vijju. Gadagadayamano

kannamiilam bhindei puna thaniasaddo. Picchila havanti vattanio. Saveao vahanti ninnaso.
abbhantario vi akko aiva antarapgagimhimam apuhavavel jau, tamma ko suhil
juvaijanavirahio ciffhium khamo? Vihiparatanto pauttho vi koi giham sambharei
rattidiaham. Ukkitthamantavveanam manel kai pavasiabhattia ‘piu-piu’ tt1 pappihasaddena
plam samsareman manini.

The above passage is quoted from the

(1) Viragasetu (2) Rayapavalakaha

(3)  Mrcchakatikarn (49) Kuvalayamilakahs

srifetfiad Ty A afeT R e faT T vl % I fifae -
T5a UREEEsl & W gl gEal, 9 JTia 9T, S 94 Fafq Togvn-deen giegenm faer
#s o Brefor fisy) TeTsm Tl Ao it g afeeE s @l awfis w@eme

aedteger Tyst gormmft aifimfi]

TG T8 90 WU W Iga @ -

(1) ey (2) TAITHTEE
(3)  TEERE 4 FaTHITATEE

[Question ID = 1900][Question Description = Q94_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7597)
2. 2 [Option ID = 7598
3. 3 [Option ID = 7599]
4. 4 [Opticn ID = 7600]
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3)

Read the given passage and answer the questions that follow (91-95) :

Taheva pausasamao vi pa jetthasamihim susaho, jaya vasenti pa ovaha, jaya-taya havanti
pacchanna ravivimbiani duddipani. hiayamkampiam kunemani vijjoai vijju. Gadagadayamano
kannamiilam bhindei puna thaniasaddo. Picchila havanti vattanio. Savedo vahanti ninnaso.
abbhantario vi akko aiva antarapgagimhimam apuhavavel jau, tamma ko suhi
juvaijanavirahio ciffhium khamo? Vihiparatanto pauttho vi koi giham sambharei
rattidiaham. Ukkitthamantavveanam manei kai pavasiabhattia ‘piu-piu’ tt1 pappihasaddena

plam samsaremani manini.
This season is described in the above passage

(1) Summer (2) Winter
(3)  Rainy (4) Spring

areifeARaa e ey i e faw T weAr % I fife -

agd gzwEmal fa m Syl gus, S g gstawn, s o gty wsgvo-defin gfegonfn frem
Hie Humi fgwer foasg) mevsm mon woume ey yo aitrwEgn fceen gafa awoiien| sdeme
Tl faftwaa s a1 wr R ows Tofeer. Shrgrasiem AP #5 waimaRen fe-f’ f
aftgae fist getamf Aol

TEq 21T 50 g W UM fET T -

(1) = 2) u=

'

3 a9 4) ="

[Question ID = 1901][Question Description = Q95_Prakrit_ SHAAN_NOV21]

1.
2.
3
4,

1 [Option ID = 7601]
2 [Option ID = 7602]
3 [Option ID = 7603]
4 [Option ID = 7604]
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Topic:- 91PRAKRIT_C

1)

Read the give verses and answer the questions that follow. (96-100)

Sariradu varam indi, indiyatto varam mano.
manasé ya varam bohi, appa hi bohie varam.

jo Janadi nivappanam so Janadi cardcaram.

jo na janadi appanam, so na janadi kine vi.
kasava-sanjudam citam, taccam no avagahade.
jaha nilambare ratte sedavanno na ranjadi.

jada hi mohapankam ca, buddhi sutthu tarssadi.
tada nohidi mvvedam bhoga-dehader logado.

so dhammo duviho neyo, sayaro anavaro va.

anuvvada-mahavvado, jutto kameda bhasido.

catta asamjam savvam samjame hi pavattanam.

egenadukkhasam saro, annena sagga-mokso ya.

According to the verse the gradual superiority 1s thus

(1) Practice — devotion — austerity — meditation

£ T 3 __ Bl YL e s e e O VSRR | R T NPT PR L PPAIETLPRY., |
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Ny AFULL T R bl WL S CLLLD # ALELIIWA W RLLELEELILIY W UL

(3) Faith —» knowledge — conduct — Penance

(4

Freferiga w= =t ofey o f= o T w5 s dif
Tl = 34, 3o 9 A

TR 7 R site, o 7 =it 1))

A1 o7 wonfe sToamer, @y o st R )
FAE-HIg o, o= U e

g1 viiesR T, YA v e |

wig1 f v =, 9fg g dfeafi)

aq1 wifefR fireag wim-2eg wmet|

@ e gfEEr v, AP e ||
SAE - TEeAEl, Fa A |

I 3 Ted, FeM T

T HEEER, 3TT0 WA 4| |

MY % STER Hih 2rodl 39 TR 2

(1) & — 4afs — sTEa — Jm (2) iR — A — 79 — arfdEen
(3) T — FH — FE — T @ #f — g9 — sEh — T

[Question ID = 1902][Question Description = Q96_Prakrit_SHAAN_NOVZ21]

1.
5
3
4,

2)

1 [Option ID = 7605]
2 [Option 1D = 7606]
3 [Option ID = 7607]
4 [Option ID = 7608]

Read the give verses and answer the questions that follow. (96-100)

Sariradu varam indi, indiyatto varam mano.
manasi ya varam bohi, appa hi bohie varam.

jo jJanadi nivappanam so JAnadi cardcaram.

jo na janadi appanam, o na janadi kinei vi.
kasava-sanjudam citam, taccam no avagahade.
jaha nilambare ratte sedavanno na ranjadi.

jada hi mohapankam ca, buddhi sutthu tarssadi.
tada nohidi mvvedam bhoga-dehader logado.

so dhammo duviho neyo, sayaro anavaro va.

anuvvada-mahavvado, jutto kameda bhasido.

catta asamjam savvam samjame hi pavattanam.

egenadukkhasam saro. annena sagga-mokso ya.

This called the religion of ‘anagart’

(1) Miner vow (2) Gunavrata

(3) Siksavrata (4y Major vow

Freaforfia = =t ufer ok 1 . o w % s difw

Mind — sensory knowledge — clanrvoyance — mind perception
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1 o STOnfa 3o, T O sonte Rt
AT For, At T ST

w31 vites T, Aeven v ||

wg1 f wiewF =, iy gy dfeafy)

ae1 wifef fireas sim-Zeg e

A g gfEl o, wER SR A
G - TEeAE], FA A |

<1 3TE=H Td, FW 2 TEgT|

T TRGEARY, 19U WA A |

Rl

ey
(3)

"FropTry’ T T wmEear 2

RG] (2) T
emea (4) wEwd

[Question ID = 1903][Question Description = Q97_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7609]
2. 2 [Option ID = 7610]
3. 3 [Option ID = 7611]
4. 4 [Option ID = 7612]

3)

“He who knows one, knows all” this sense 1s found in this sentence.

(1)
(2)
(3
3

Read the give verses and answer the questions that follow. (96-100)

Sariradu varam indi, indiyatto varam mano.
manasa ya varam bohi, appa hi bohie varam.
jo janadi nivappanam so janadi caracaram.

jo na janadi appanam, so na janadi kinc vi.
kasaya-sanjudam citam. taccam no avagahade.

jaha nilambare ratte sedavanno na ranjadi.

jad3d hi1 mohapankam ca, buddh sutthu tarissadi.
tada nohidi mvvedam bhoga-dehader logado.

so dhammo duviho neyo, sayaro anayvaro va.
anuvvada-mahavvado, jutto kameda bhasido.

catta asarhjam savvam sarhjame hi pavattanam.

egenadukkhasam saro. annena sagga-mokso ya.

catta asamjamam savvam, samjame hi payattanam
jo jJanadi niyappanam, so Janadi caracaram
jaha pilambare ratte, sedavanno na ranjadi

manasa ya varam bohl. appa hi bohie varam

Freaferfign w=l =t wfer o R e o oo % s i
TR 7 =R SAite, o {7 witae v

H TR forrmreT, T S =R

S o7 SronfE eyoarer, I o sonte B )
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FATI-TE P, i T e
a1 vites ™, Aeuun v ||
w1 f wiew =, iy gy dfeafy)
ae1 ifEfE foreeg wim-agtg @Rl
=) T PR o, AP sE
G - TEeAE], FA A |
I 3 Ted, T 2 T

T TRGEEARY, TN WA A |

“Fi wF W A 2, 97 TAH 9 & 9% 9Td THH TEed 2

(2) i onfe PR, S SonE =l

(D
(3)

[Question ID = 1904][Question Description = Q98_Prakrit_SHAAN_NOVZ1]

. .
= ATESTH Wed, HoW T2 T

e et ™, AU 9 Wi

1, 1 [Option ID = 7613]
2. 2 [Option ID = 7614]
3. 3 [Option ID = 7615]
4. 4 [Option ID = 7616]

4)

Read the give verses and answer the questions that follow. (96-100)

Sariradu varam indi, indiyatto varam mano.
manasa ya varam bohi, appa hi bohie varam.
jo janadi nivappanam so janadi caracaram.

jo na janadi appanam, so na janadi kina vi.
kasaya-sanjudam citam, taccam no avagahade.

jaha nilambare ratte sedavanno na ranjadi.

jada hi mohapankam ca, buddhi sutthu tarissadi.

tada nohidi nivvedam bhoga-dehader logado.
so dhammo duviho neyo, sayaro anayvaro ya.

anuvvada-mahavvado, jutto kameda bhasido.

cattd asarjam savvam sarhjame hi pavattanam.

egenadukkhasam saro. annena sagga-mokso ya.

‘rafijadl’ the verbal form belongs to this Prakrit

(1)
(2
(3)

(4)

Frefefa w=n =t ufer i fi= fim o W % s iR

Sauraser Prakrit
Magadhi Prakrit
Ardhamagadhi Praknt

Apabhraméa Prakrit

wimg R ¥, 3t X Aom|

T o ) difz, oFou T2 «ifge w)

S SATie frrogrer, |1 St =1Er)

St o7 wrenfe soamen, =1 or sonfe B )

FHEE-TE, 194, T I ST
ST TifeTeR W, TS9N U it

(4) WU T & 9l Ao 2

h =

il”ﬂ"aa—{
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1 f2 AT |, 9t g aiew|
a1 el g sir-derg @ |
A g et v, SR e =)
TG -HEoAGl, Feil B AT |
I G Fed, Fed 2 T

WY AR, SO WE-HEE] 4|

“wfg’ fErea @ a1 SR 2 ¢

(1
2
(3)
4D

[Question ID = 1905][Question Description = Q99_Prakrit_SHAAN_NOV21]

AT ST
STEATTE T
GEERIEL

1. 1 [Option ID = 7617]
2. 2 [Option ID = 7618]
3. 3 [Option ID = 7619
4. 4 [Option ID = 7620]

3)

Read the give verses and answer the questions that follow. (96-100)

Sariradu varam indi, indiyatto varam mano.
manasé ya varam bohi, appa hi bohie varam.
jo jJanadi nivappanam so JAnadi cardcaram.
jo na janadi appanam, o na janadi kinei 1.

kasava-sanjudam citam, taccam no avagahade.

jaha nilambare ratte sedavanno na ranjadi.

jada hi mohapankam ca, buddhi sutthu tarssadi.

tada nohidi mvvedam bhoga-dehader logado.
so dhammeo duviho neyo, sayaro anavaro va.

anuvvada-mahavvado, jutto kameda bhasido.

catta asamjam savvam samjame hi pavattanam.

egenadukkhasam saro. annena sagga-mokso ya.

“Anuvvado” the word denotes this sense

@
(2)
3

(4)

Froaferfiaa o= =t ufer ot F= fow o T % T S

deception
vollation

householder’s duty

monk’s duty

Tl = 34, 3 9 A

W

R A W Aite, 7o 7wt )|

H TR forrmreT, T S =R

S o7 SronfE eyoarer, I o sonte B )
FAE-G3g o, o= o e

=T Uiteat TR TR U T
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wg1 f wiewF =, iy gy dfeafy)
a1 wifef fireas sim-Zerg e
2 o Zfr o, AP s
SR -TEeAG], T A g |
I 3 Fod, T 2 T

T TRGEARY, 10U WA A |

e’ g R A 3EY R

() "R
2 sIfEr
(3  TEEuEd
YR

[Question ID = 1906][Question Description = Q100_Prakrit_SHAAN_NOV21]

b

R P N

1 [Option ID = 7621]
2 [Option ID = 7622]
3 [Option ID = 7623]
4 [Option 1D = 7624]

Topic:- General Paper_Set1_A

prepp

Your Personal Exams Guide

1)

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 37
Sales (SA) 12% 5:8
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% 3.5

Frefafan ofeem W fem it few o 3@ ge 990 | e fafaw a0 3 wwa F wesa = wfaea
(%) T o yEa-afEen $rme oum qmi T Bl ufi &El % P wEw e 6 e 80 9| 2
ATt 4 128 70 SISl & STTER W YT o Io i)

A % RS 1 & o
TR 57 & I T Hre
stca (%) fom | geu-afeen oguw@ (37 )
a1 (TH §) 15% 3:2
Bew (T 1) 12% 5:3
Fmtor i e (d ) 9% 5:4
ArFTEe (d 2TR) 18% 5:7
weuA (TH U) 21% 3:4
Ieuren iR ufiags (di ) 19% BT R
ar=a (3 A 6% > S 5
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What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)

(1) 6.39 lakhs (2} 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

weft &=t = et 769 SEEe 1 oite wear 91 27 (SImEd % 3 97! a%)

(1)  6.35 @@

(3)  5.96 TG

(2) 4.69 9™

@) 7.48 9@

[Question ID = 2007 ][Question Description = Q01_GP_20NOV_S1_SHAAN]

1 [Option ID = 8025]
2 [Option ID = 8026]
3 [Option ID = 8027]
4 [Option ID = 8028]

R R N

2) Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% P
Sales (SA) 12% Han
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% 3:68

Frefafan ofeem W fiem it few o @ gu 99 | o fofaw &m0 3 wma F wesa = e
(%) foam a1 geu-afEen FRme ogum qmta T B i @l % e FEew H G 80 9@ 2|

ATt ° 128 70 TSl & STER W 9T o Ia oI

Td % BEASA 1 & faawor
IR 57 & G T Hree
st (%) fom | geu-afeen oo (g7 )
a1 (7@ 3) 15% 3:2
TeE (TE T) 12% 5:3
Fmtor 23R orgRanr (Hi ) 9% 5:4
e (d 3TR) 18% 557
weaA (T U) 21% 3:4
Ieuren iR ufiag (di ) 19% 5:3
317 (a7 &) 6% 8B

prepp
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The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM

sector?
(1) 330% (2) 318%
(3) 320% (4) 80%

wg o ff o & ° e nfeen wRee $ o gem @ @7 § Feia g FEed i qeE =

fora wfeea 27

(1) 330%

(2) 318%
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(3 320%

4y 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]

1
2
3
4

3)

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of

. 1 [Option ID = 8029]
. 2 [Option ID = 8030]
. 3 [Option ID = 8031]
. 4 [Option ID = 8032]

and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Consider the following table that shows the percentage (%) distribution of workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% 3:2
Sales (SA) 12% b:3
Construction and Maintenance (M) 0% biid
Professional (PR) 18% 61T
Management (MA) 21% 3:4
Production and Transport (PT) 19% 538
Others (OT) 6% oD

frefafas ofee w faem fifve e o @ g o 3 toem ol gat 4 awa % wefss = o
(%) T a1 TRy-ufgen FEEE SETE quiE T &l 9l &9 % T wEed B @ 80 9 2|

arfersst o 138 U SThS1 % IER W 9TT IaL Ay

TG % w1 e B
TSI, oh1 &5 HI BT FrHeel
wicrera (%) ferereon | gea-mifgem sgma (307 )
Ha (Td %) 15% 3:2
Tow (T 1) 12% 5:3
Tamtor sit srgear (d ) 9% 5:4
wrbeEe (i 3TR) 18% 517
WeeA (T U) 21% Fad
IeaTEa 1R uftEsa (i ) 19% K
3= (31 &) 6% 8:5

workforce in PT sector?
(1) 82% (2) 87%
(3) 89% (4) B5%

TH T 3R TN T &9 § HEG J5 BEE H FA TN di 7 49 § e FEEd o fe Gea 1 aTET

ordaT widwa 27
() 82%
(3 89%

) 87%

(4)

85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]

Ja L 2 o/

. 1 [Optien ID = 8033]
2 [Option ID = 8034]
. 3 [Optien ID = 8035]
. 4 [Option ID = 8036]
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4)

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% 3:2
Sales (SA) 12% b:3
Construction and Maintenance (M) 0% 5:4
Professional (PR) 18% B:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% a2d
Others (OT) 6% 3:b

frefafas afee w faem Hifve e o @ ge o 3 tem & ffts g7t 4 awa % wefss = i
(%) Taoor o ge-ufgen weme S qui T g1 Wl &l % P hEEe B G 80 W 2
qrfer=sT o 129 770 3RS1 % ER G YT = I FAg)

TSI, oh1 &5 ARG = HEHEA
vt (%) forwor | ges-nfeem 3@ (g0 )
o (vd %) 15% 3:2
Tod (TF 1) 12% 5:3
fmtor 3iit smeaw (ot @) 9% 5:4
e (i 3T) 18% 5:7
oA (T U) 21% 3:4
IedTEA iR ufiEsa (i 2) 19% 5:3
= (3 &) 6% 8:5

prepp
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The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce

in

PT sector is

(1) 5.1 lakhs (2) 7.5 lakhs
(3) 5.7 lakhs (4) 13.2 lakhs

TH T SR T U A § FEE Afgen wEEa $i Fa ae o 6 & g7 # weiw aften seise i aem
ST o 27

(

1) 5.1

(3) 5.7 @G

@) 7.5 @

4) 13.2drg

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]

b

e L e =

3)

1 [Option ID = 8037]
2 [Option ID = 8038)
3 [Option ID = 8039]
4 [Option ID = 8040]

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

o, FR ‘DU B o, B S,

[

¥ 3 P P - MR - B F. L
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LT — AR A A
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 0% 5:4
Professional (PR) 18% B:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% a:d
Others (OT) 6% 3:8

frefafas afee w faem fifve fed @ ge o 3 toem + ffts gai 4 awa % wefss = i
(%) facor aw qe-ufgen wrme SEud qui T 2| wdl &l % P hEwe B G 80 g 2

qrfer=sT O 139 T 3RS1 % ER G YT = I FAg)

TR, oh1 &5 G = HEHEA
wtawa (%) forwor | gev-nfeenm 3@ (g0 )
o (| 3) 15% 3:2
Tod (TF 1) 12% 5:3
fmtor 3ii smeaw () 9% 5:4
wrbeEE (i 3TR) 18% 5:7
oA (T U) 21% 3:4
IedTEa iR uftEsa (i ) 19% 5:8
3= (a1 &) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT

sectors put together?
(1)17 : 39 (2)16: 37
(3)16 : 35 (4)16: 39

ot w & # TR wiEen FEEd S FE SR 9 o vd o1 F &6 9 PN 15 wEEe i Hel Gedl 6

ST = 27
(1) 17: 39
(3) 16 : 35

(2) 16:37
(4) 16:39

[Question ID = 2011][Question Description = Q05_GP_20N0OV_51_SHAAN]

1 [Option ID = 8041]
. 2 [Dption ID = 8042)
. 3 [Option ID = 8043]
4 [Option 1D = 8044]

P Lt P

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level

(3) Reflective level (4) Autonomous development level

e % fpw v o gem IR e st gum o aem w6 9T Sue sHateld SegHeeT WOET 27

1) wfaER

(3) AT &L

(2) sy &
(4) P T

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]

1.1

[Option ID = 3045]
2, 2

[Option ID = 8046]

prepp
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| S

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which

among of them fall in the domain of behavioural competencies?

(A) Self efficacy
(B) Planning

(C) Locus of control
(D) Communicating
(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)
(2) (B) and (C)
(3) (D) and (E)
(4) (B) and (D)

frafataa 3= gfefg st awarett 6t g2t @ % s1ommm et fafm ol meam @ faf=a e
T B| 37 AT Al SR g i anard 3| 3 A i ) qHa Hagr A % Sty 2 37

(A)  @ArcA-@aal (ame)

(B) fFEmE

(C) g aitafq

(D) w9

(E)  F5AEa

= fau e fameut 4 ¥ W21 39 A1 =EA i
1 Q) IRB)

2 (B ()
(3 (D) R E)
@ (B)mD)

[Question ID = 2013][Question Description = Q07_GP_20N0OV_51_SHAAN]

1.1

[Option ID = 8049]
2. 2

[Option ID = 8050]
33

[Option ID = 8051]
4. 4

[Option ID = 8052)

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List 1l provides the techniques of increasing

effectiveness of the method.
List 1 List |l

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method

(B} Open and distance learning method (lI} Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material
(D) Online methods of teaching (IV) Reflective questions coupled with discussion

(I} Using Swayam and Moocs

Choose the correct answer from the option given below :

(1) (A)-(1), (B)-(11}, (C)-(lI), (D)-(IV)
(2) (A)}-(1}, (B)-(1v), (C)-(D), (D)-(1)
(3) (A)-(1V), (B)-(ND), (C)-(N), (D)-(1)
(4} (A)-(11), (B)-(I), (C)-(IV), (D)-(lI)

‘Hﬂf%ﬂﬂ:ﬁTTm%ﬂﬂﬂ%lﬂ:ﬁT;ﬂ:*ﬂmﬁm&;#%mﬂ%fﬁ‘ﬂég —_=rE =h
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R, WSS M R R VRS SRS § YRR WSS AR
I # siferm fafemt 6 S i ain 4 8§
gt I Tt 1T
Frgor =it fafzen ueErEfAdar 93 =t aehdlh
(A) HAMH-UH hT Fafharcae it D) Taad 3R gy & 9=
(B) W i gl rftem fafy (ID) Al argmmen G
(C) Toreror i dafees faik (III) WISTER LIeF QA
(D) freror it e fBfy V) uiEa % Tg-wry e wwa
5 fov 7o fawedl 9 © w3 ST W 99T I
1) @A-D, B)-AD. (C)-IID), (D)-AV)
(2)  A)-dID), B)-IV), (C)-(0), (D)-(IT)
(3)  (A)-AV). (B)-(IID), (C)-AI), (D)-()
4)  (A-ID. B)-D). (C)-AV), (D)-dII)

[Question ID = 2014][Question Description = Q08_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (l) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (Il) : Objective personality tests and projective personality tests are designed to measure the typical behaviour

and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I} and Statement (1) are correct

(2) Both Statement (1) and Statement (ll) are incorrect
(3) Statement (1) is correct but Statement (ll) is incorrect
(4) Statement (l) is incorrect but Statement (ll) is correct

Iqeitey offt sifhemman ofieor = wdienfi & 3 ot 39 amar #it Suit dimr =

w99 (1) -
ST ™ e AR AT S 2
W{H_):

Fegig =afema wlam i nad =afraa e et & fafie smer 3 o =

I w4 % TR O R e s )

SUUH HF F A A, 4 fu o formedi 4 9 weg SUgE ST w99 St

(1)
(2)
(3)

(4)

oM (D) 1 (I1) 31 w8 3
w0 (1) 37K (AD) 3 e B
F (1) T 2, At w9 (1) 7o 2
F9A (I) T 2, S 597 00 @8t 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

prepp
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%) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes,
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R} is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

fi9 @ o= g w ¥ : ©F sifuFYA (Assertion A) ¥ ¥ § fufga 2 @ gm0 3wE FW (Reason R)

W H |

FfiReE (A) - foremor © sngfie it oms = A snenf@ wemar yoredt @@ Ffga wEeE siftrm gftom
i TEAY &9 2|

w1 (R) ; et wurEh fagm wemar et w1 stitem afdestat 3 qur % oy g3 G s
=Tyl

I B * o7l 8, T B 7o fweni € | w91 s W 9 Hife

1) (&) IR R) I TE & AR (R), A) F w9 = |

@ (A IR R) 6w &, A ®), A) @@ =men 11 2
@) (AT 3, A ®) T B

@ (A swEE , I R) 73 2

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant’s perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

fora e % wiw § ufgarli-ufdes =6 gieotsa e S e ?

()  Todi oy (2) Cfertas wa
(3)  IHIATHS WY (4) eI MY

[Question ID = 2017][Question Description = Q11_GP_20N0OV_S1_SHAAN]
1. 1 [Option 1D = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (C) and (D)

(4) (D) and (E)

uitsreun afemr S afofy =@ a1 afaaf® o o % wv 4 2l 2, a6 F=fafea 9 @ f faften
=1 TIE HUHR 27

(A) faoners &

(By  wHiTen=s fafy

(C) e fafy
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(D) et ffy

(E) ==maEmesss oty

F=1 fou o fawedt B o OF W w1 9= ST

1 (@B
@  (BIR©
3 (0 D)
4 (D) IR (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8069]
2 [Option ID = 8070]
3 [Option ID = 8071]
. 4 [Option ID = 8072]

Ja Led 2 —

8) Match List | with List I, List | gives steps of research while List Il provides techniques used.
List |  List Il Steps of research  Techniques used

(A) Problem formulation (l) Tabular and graphical representation of data

(B) Hypothesis making (l1) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(11T}, (B)-(1V), (C)-(1D), (D)-(1)

(Z) (A)-(1), (B)-(I1}, (C)-(IN), (D)-(IV)

(3} (A)-(11), (B)-(l1D), (C)-(1), (D)-(IV)

(4) (A)-(1}, (B)-(1), (C)-(I1), (D)-(IV)

-1 % o -1 = faens =hifs) gfit-1 8 w9 % =01 9ea 2, St G-I | 396 gR1 Y a®

FqH1-1 FqHI-1T
MG o T AR AT T
(&) =men g () STPFS! 1 AROES 3T AT T
(B) uftsmeaT Fuio (IT) U TER B © THFHl B o
(C) wfae= o =1 994 (II) <9 % &3 § g9 T34 33
(D) AiheT fagemm (IV) Y % =0 & = oy T =

$= fou mu fameat 4 @ v 3w ww fifso

1) (A-dID, (B)-AV), (C)-aD), (D)-(D)
2 A-O. B-AD,. (O)-dID), (D)-AV)
(3  (A-AD. B)-1I), (C)-D). (D)-AV)
(4  AQ-AID. B)-@). (C)-dD). (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8073]
2 [Option ID = 8074]
. 3 [Option ID = 8075]
. 4 [Option ID = 8076]

Ja L 2 4

9) Given below are two statements

Statement (1) : There is no difference between format and styles of writing and referencing in a thesis and a research
article,

Statement () : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (1) and Statement (ll) are true

(2) Both Statement () and Statement (Il) are false

(3) Statement (I} is true but Statement (ll} is false
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(4) Statement (l) is false but Statement (I} is true

= g o fir e 3

w7 () : UF T-TEY T WE-F § oEd o d9edT % taed oIt feh % e =g o 7
gl 2

w97 (ID) : iy wedt A ok s sgwen wst mdl & fore sthEm R

ITUH HA H aTens 8, f B o feredl § 9 @t s w9 i

1) = @) ok 1) 1 T ¥
2) o (O 3R AD B oEeE B

8 =y () "ea 2, A waE (1D s9ed 2

@) = (D) 9 2, dfes w10 F9 2

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1 [Option ID = 8077]
2 [Option ID = 8078]
3 [Option ID = 8079]
4 [Option ID = 8080]

NPT W

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis {(H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both {A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

H= @ = for 1w £ ;v sfuwas (ﬂssertionA)%mﬁmﬁ%ﬁaﬁmwmeamnfi}

& EgH

#AfRa (A) ; et =w sfrer (Hy) =1 Faspofia afeseg (Ho) & @gmar @ vhiaor e s
Ut

FR (R) : i aferew T (Hy) = aehanfa =i s1figfe did w0 @ 73 < o1 gt 21

ST Y o+ I °, T 2 m fasedt § O geg U ST H 94 HIT ¢

1) (A IR R) AT GE T AR (R). Q) F wd =Em B

(2) (&) SR R) I FE 3, A6 (R), (A) F @ = 16
(3) (AT R, Al ®) T 2

@) (A= T 2, A (R) W@ R

[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4, 4 [Optien ID = 8084]

11) Every vear Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15  (4) November 15

T TE aiwe goa o udE tE foem Freafafaa § @ e oty =t w20

(1) 30 SFad (2) 30 W%
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(3) 15 3R (4) 15 gT=%

[Question ID = 2022][Question Description = Q16_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3, 3 [Option ID = 8087)
4, 4 [Option ID = 8088]

12) Which Newspaper logo bears *“Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

form THTERTR 1 Td- T (M) "Let truth prevail” 87

Q  fi R Q) T A 3
@ fafem @ 3Ry

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option 1D = 8089]
2. 2 [Option ID = 8090
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both {A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (M) is not correct but (R) is correct

= g ye fau U § : us sifem (Assertianﬂ)%ﬂﬁ%f@ﬂ%ﬁ@ﬂ?ﬂ%w(ReasonR)
FEIH

a1 (A) | sAftrs wan (Siesre) suaa s gafedie S SisiE g 2, v A3 iz
) e T SOF U9 U2 6 2

FRO (R) FER TARY (Fiswne) Hitem W deEi 2 i TR W=E 2
ST Y F e W, 4 U T faewedt 0 9 969 SUge ST H 9EA SN

(1) (A) IR ®) A gd 2 ol R). (A) F 7 =E 2

@) (A SR ®R) I T E, A R), (&) F v s T 2
3 (A= g, @ ®) T TE R

@) (A= TE 3, I (R) WE B

[Question ID = 2024][Question Description = Q18_GP_20N0OV_51_SHAAN]
1. 1 [Option 1D = 8093]
2. 2 [Option ID = 8094]
3, 3 [Option ID = 8095]
4. 4 [Option ID = 8096)

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

FIOER % SU & 5g MUFHA Wel Aohies 78 TR H TF TR (Gas 3 meral amfea ge?




WWW.prepp.in prepp
(A) T fagm fafemi =t aman i @ A % &)
(B) = Tt safEm i % @y ufnem 3 % o
(C)  smfER i fan Tomelt =1 TR weE + o)

(D) =2 4R SN % fore B @i w aee wrE Hifh B 2

= fou v faepedl 8 U w99 TR 39T 0 99 Fif

(1) e (A) 3R (B)
(2) e (B) S (O)
(3) ¥ (C) 3 (D)
(@)  FE (A) FRD)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8097]
2 [Option ID = 8098]
. 3 [Option ID = 8099]
4 [Option ID = 8100]

e L e

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

o & 78 g 2 @ gem £ e st A g i

(&) I
(B)  amT
©
D) ofa

(E) &I = 9 g

= fou o el § @ @@ 3w w1 999 Fifvu

1)  FFE (A, (B) 2 (0)
@  FE (B), (©) 3 (D)
(3 %3« (0). (D) 3R (B)
4 39 (4), (O) F(D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]

| 3. 3 [Optien ID = 8103]
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| 4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs, 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs. 5,000/- (4) Rs, 6,000/-

T T4 % S U TRER %1 S10d TiEes 599 U9 3 WeA ° 4000 T, 3TH I 4 Werl § 4500 9
R Ifim s WEAT § 5000 T 97| AR IW A9 % INA FA o=d 5000 ot a7 I gf@r # iga

i et e o ?
(1)  3000/- & (2) 4000/- T4
(3  5000/- TR (4) 6000/ w0

[Question ID = 2027][Question Description = Q21_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4, 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5 (2} 98.25
(3) 55.75 (4) 56.75

70 & 90 = sitg it gl s1erew weet = siigd sa -

(1) 76.5 (2) 98.25
(3) 55.75 (4) HB.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

T ARG 33 TeX 39 999 W 11 ofieX 38 % Fopa e % soe W aifSia wRan 21 wfowa §

g
1) 25% (2) 50%
3 0% 4 80%

[Question ID = 2029][Question Description = Q23_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4, 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

7fg ot aeg =1 e goa 3wk fasa qoa w 95% B @ e =R widwran w37

(1) 4.26% 2) 5.26%
(3) 5% (4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1, 1 [Option ID = 8117]
2. 2 [Option ID = 8118
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
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profit of 30%?
(1) Rs, 1,600/- (2) Rs. 2,000/-
(3) Rs. 2,080/~ (4) Rs. 1,560/-

72 ig =afs et g =+t 25% ufewm F oI @ 39 1200/~ = d dwar & @1 30% =1 @19 HAH
fore =@ =w =g = e Fiwa | s= =i o e

(1)  1600/- v (2) 2000/- ¥
3  2080/- ¥ @) 1560/- T

[Question ID = 2031][Question Description = Q25_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123)
4. 4 [Option ID = 8124]

Z21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

79 YRdE guwE ° g # Fefatea § 8 Fi-m gie ome atg i BRf e ang B @y muEa w

AT 27
(1) vy (2) IgHA
(3) wmEA (4) sTefsy

[Question ID = 2032][Question Description = Q26_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128)

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A}, (C), (B)

(2) (D), (C), (B}, (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A}, (B), (C)

I ToRATRE °h TR ST < A | =0T %1 Gl 369 T & 7

(&)  TorEme fawm o sgmr it garr/ wEsEar o e ()
(B) RO B B (87)

(C)  Afiremon i faghh % = A gfe (Frem)

D)  eAivaRen w1 wU (FfcE)

(E) fifta Frag = szmon 30 (32Eon)

fi= o o forreat 4 @ udt sw W 99 Fifvw

1 D), E) @A) (C). B)
2 (D). (). B). (A). (E)
3 (D) ®B). (E). A). ©)
@ D) E).A. B ©)
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[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129
2. 2 [Option ID = 8130]
3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) Which of the following schools of Classical Indian Philosophy reduce Sabda pramana
(verbal authority) to inference?
(A) Nayaya

(B) Vaisesikas

(C) Buddhists

(D) Mimﬁrpsﬁ
(E) Carvaka/Lokayata

Choose the correct answer from the options given below :

(1) (B) and (C) only
(2)  (B). (C) and (E) only
(3) (B) and (E) only
(4) (A). (D) and (E) only

T YRAHE 29w -9 AL W63 YATOT St STIHIR AT HA @ 7

(A =

B H=ifw

€ dig

(D)

(E)  =mEih/rmra

=t fag T ferepeat o & wEl s w1 = Hif

(1) = (B) 3R (C)
2)  FF (B). (C) 3R (E)
(3) =« (B) 3 (E)
4 T (A). (D) ¥ (E)

[Question ID = 2034][Question Description = Q28 _GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (1) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence,
Statement (Il) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement () are true

(2) Both Statement (I} and Statement (ll) are false

(3) Statement (l) is true but Statement (I} is false

(4) Statement (l) is false but Statement (I} is true

fo g g g
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& (D) : T WA I % AER AETIE S dlfhe %H % wra ot gar 2|
w9 (1) : s W 75 Tei sawdt 2 % 25 359 IR & I9aF o1 =Ry "ok a5 I8
sl 2 26 29 0 1w I g

IHIF FUT o TS H, q 4T T fwed § ¥ wEl SOk W 99 it

(1)  =m (O) K D 35 53 3
@)  F @) AR (1D I =T B
(%)  ww Q) a2, b wua () w5e 2

(4) =9 (1) 319 2, Ao wga (ID) gea 2|

[Question ID = 2035][Question Description = Q29_GP_20N0OV_S1_SHAAN]
1. 1

[Option ID = 8137]
2. 2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (1} Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason  (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll} Therefore there is fire on the hill

(D) Statement of thesis to be established (IV) Becuase there is smoke

gefi-1 % @rer g=i-11 =1 firem fife)
-1 gEt-11
b % =l LETICE
(&) afirarom iy = w9 1 g @ gt Fn ? ae am e ] e e
T
(B) R T A an wgrEl uT A 2|
(C) Fafza Frem w1 sgwr &0 (11D safo vardi w e 2|
(D) wenfea = syerel stiirumon =1 w9E (IV) Wit I= usT 3

= fau u faemedl § 4 98 9w =9 R

1)  A)-O, B)-1), (C)-AV), (D)-(1I)
2 @-av). (B)-dil, ©)-@). (D)-dI)
3  @-dID, B)-AV). (O)-(D). (D)-dD)
@  (A)-0D, B)-@), (O)-dID). M)-dAV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]
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26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models,

The technology that has been used to accomplish this, is :
(1) Faster RAM  (2) Blu-Ray Drive
(3) Solid State Hard Drive (4) LCD Technology

wF oS & FA Y T 4§ U 14 Hise % Auerg &1 Bt Ben 3 e e e f e et 2 9
W1 et Seiy ATl i SuaT 3R 3§ Bier i a9 A -9 2|

oo 9 % o g gl = uae e e 27

(1) v (dm) W 2 =-tgrA
(3) Hifas =2 T8 3 (4) wa @ TR

[Question ID = 2037][Question Description = Q31_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148)

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (0S) installed on it,

Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R} is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 2t = i T B ;v ofymys {Assertion A) % &9 | faflgg 2 ot By W F19 (Reason R)

%ﬁ =Y ﬁ :

HATHFE (A) : TG AT T P | U AT (s sTavas §9 § weurud 1 =nfee|
F (R) © TT AR F WY AR W 9" § "ang A W aFd |

ITUTH FIF & ST °, A9 28 70 fawen § ¥ e ST F1 999 hife

(1) (A) IR (R) 3A T 2 IR (R). (A) i Tt =@ 3
)  (A) 3 (R) IA1 & 2, @ (R), (A) F @&t =amean 7= 2|
(3) (A) T B, e (R) #9cd 2l

4) (A 378 2, 9 (R) T3 2

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149]

2. 2 [Option ID = 8150]

3. 3 [Option ID = 8151]

4. 4 [Qption ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A} 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

THU 99 § 99U B audT % w0 § Fofatiad RS Guaisti % Oar 59 i geaE it

(A) 1500 M Bytes
(B) 5 K Bytes

{C) 1 G Bytes
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(D) T Bytes
= few T famreat # @ wf ST w1 == i

1 (D) A)C). (B)
2 @) D). B
3@ @, 6B.0.0
@ D), ©).A). B

[Question ID = 2039][Question Description = Q33_GP_20N0OV_S1_SHAAN]
1 [Option ID = 8153]
2 [Option ID = 8154]
3 [Option ID = 8155]
. 4 [Option ID = 8156]

b okad R

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (1) : Wi-Fi has a shorter range than Bluetooth.

Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement () are true

(2) Both Statement (I} and Statement (ll) are false

(3) Statement (l) is true but Statement (I} is false

(4) Statement (1) is false but Statement (I} is true

e % e A o s o ard-d It 31 2, A9 @ o feg e #

= (D) : -8 H I gy U 9 Bl B
o (1) ; S-S % Wieue U wepy i o HE wften 97 4 B 2T AT 1 T 2|

I FHYT * oTw H, 19 B v Fwedr § ° udl SR = 95 Shifag

(1) =y (0) & 3D 4 T £

(2) e (1) S (D) 297 oTEed B

(3) = (D) uF 3, fF w5y (D) 19 2

(4) =9 () o7ca 2, 9fF w9 (D) 99 2)

[Question ID = 2040][Question Description = Q34_GP_20N0OV_S1_SHAAN]
1 [Option ID = 8157]
2 [Option ID = 8158]
3 [Option ID = 8159]
4 [Option ID = 8160]

N FER  E

30) Match List | with List Il ;

gft-1 & wg ge-11 = faem <hifsm)
g I et 11
(PR T 9 ) (TR
(&) OCR ) 2fa a1 eafafga SRS & S B 6
fer s i )
(B) OMR D) sg-feredis aiaret § o g7 %@ & fog

I gial 2|



WWW.prepp.in prepp

Your Personal Exams Guide

(w) Lmau (111) HHHTHT PREawnn

(D) Instant Messaging (V) THEATFR PG5
F= fou o fwew 8 O 99 S %1 o hI

1 @-dD. B)-O, (O)-0V), (D)-1II)
2)  (A-AD, (B)-@. (O)-(ID). (D)-1V)
@) A-D. B)-AD. (C)-11I), (D)-(IV)
4)  (@A)-d), B)-ID, (C)-AV), (D)-(III)

Match List I with List I1:
Last I List IT
(Computer Terms) (Purpose)
(A) OCR (I)  Used to scan typed or handwuritten
documents
(B) OMR (II) Used to mark  multiple-choice
examinations
(C) Email (III) Asynchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :
1)  @)-dD, B)-@). (O)-1V). D)-I1I)
(2) (A)-AD, (B)-D). (C)-(1L), (D)-{1V)
3  @)-O, (B)-dD), (C)-(IIL), (D)-IV)
@ @@, B)-dD. (O)-AV). M)H-AII)

[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8161]
39

[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

frafefigd 0 o SlF-ar v A = R0 BE G 9wy 20

(1)  UR IEHEEES @) Taoree weivss
(3) T SEHATIARS (4) e

[Question ID = 2042][Question Description = Q36_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4, 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frafafiga 9 9 =R-w =t Aq 99 w5 w1 8 v

(1) st s (2) uEd B
(3)  iEer (4) St

[Question ID = 2043][Question Description = Q37_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4, 4 [Option ID = 8172]
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33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic (4) Storm

frfafaa @ @ Fiv-of aepfas oMU 3w Fedt 3 oK 3ud st S oH o | ¢

(1) =9 (2) waE fewie
(3)  wEmMHl (49 TP

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

AN WORR 1 TieAvig 241 % @2 § NMSHE F=fafiga § 2 feur agmew 27

(1) National Mission on Solar-Hydro Energy
(2) National Mission on Sustaining Himalayvan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177)
2. 2 [Option ID = 8178]

3. 3 [Option ID = 8179]

4. 4 [Qption ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :

(1) (B}, (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

fFrfefas # o T Tl =1 afisge T9E AT % TEReT SR SieETg Tieke W9 8 7

(A)  ATEEISA SRATFIES
(B)  RR TGy (PMas)
(€ sEE

(D) HA

(E) FT5cH IT99RS

= fam T fFwew § O 96 s w1 = hiR

1) A (B), (C) 3R (D)
2 F Q). (B) R (C)
3 I« (B) 3 (D)
(4) = (B) 3R (C)

[Question ID = 2046][Question Description = Q40_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8181]
| 2. 2 [Option ID = 8182]
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| 3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
7= formn & ded o, wEdg s=an e 1wl e d o giemsma daw g fuifa sw & o
Fr=fafaa @ @ fra vdm ferm/gea =t faw faar e

L g 2 wddi
(3 wHEamA (4 uvImHiAg

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8185]
2 [Option ID = 8186)
3 [Option ID = 8187]
. 4 [Option ID = 8188]

Ja Led P2 —

37) Match List | with List Il. List | names various organizations while List Il gives their location :
List1 ; ; ; ;Listl

(A) NAAC : ; (1) Delhi

(B) NIEDA ; ; (Il) Bengaluru

(C) NDRI ; : (I} Lucknow

(D)} CDRI ; ; (IV) Karnal

A1 % = g1 =1 e o)

-1 11
@) weuH O fe
B) WaEIHT ) e
(C) A I (IIl) wETs
(D) = o g IV) ==
5 fou mu famwedl & @ wf SW 1 == i

1)  @-dD, B)-dII), (C)-D). M)-IV)
@)  A-AD, B)-@. (C-AV). (D)-(11I)
3 (@A), B)-AD. (O-D). O)-AV)
(49 (A-IAV). (B)-AID, (C)-(D). (D)-d)

[Question ID = 2048][Question Description = Q42_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192)

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning,
(€) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology,

Choose the correct answer from the options given below :

(1) (A}, (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D}, (E) only

(4) (A}, (C}, (P) only

73 forem ity (w7 § f1)-2020 % @ 3 7 v Fit w9 FE W T@E 2| 39 Fream % i e 9 g2
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(A)  TIIFER H STIRYH TR T9ER Tg € FEm aa) &)
B) e wR 3g S % e % vy § Rent % g - g o T g S
(€ ol e SR i SerET & H waEd &g sl e it we

(D) warem Ui, F R SeEE uftecT & g o dfvas it = ame e gg aniERma
ST 1 TR F T SATUSE ST T FAT
(E) foan St o sifas ok Seuma swgarsd = fmir s

2 f2u mu forregt 4 9wt 3w w1 9aw Fifhv

(1) =ad (A). (D), (E)

(2)  had (A), (B). (E)

(3)  a« (B), (D), (E)

@)  Fad (4), (C), (D)
[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8193]
2 [Option ID = 8194]

. 3 [Option ID = 8195]
4 [Option ID = 8196]

e L e —

39) Which of the following are e-learning platforms?
(A) SWAYAM
(B) PARAKH
(C) SWAYAMPRABHA
(D) DIKSHA
(E) MOOC
Choose the correct answer from the options given below :
(1) (A}, (B}, (E) only
(2) (A), (C)}, (D) only
(3) (B}, (C), (D) only
(4) (C), (D), (E) only
frafafa § @ FF-9 §-w1frm w9 £7

GV R

B) wm

(© T

O &

E) TF

A=t faw e faerest 7 @ w@l 3w W = Hif

(1) =4 (A B). (B)
(2) #4 QA (©). (D)
3) == (B), (O). (D)
@ = (C), (D). EB)

[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8197]
2 [Option ID = 8198]
3 [Option ID = 8199]
4 [Option ID = 8200]

Ja Led P —
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40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-47?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

T UE % WSS <9 g AN 2015 | waa faEw wem-4 ¥ wefyg fefafa 9 ¥ s 95 s

REI
(1) 09 TaRed 3T agesdl (2) T e
(3) W sEm (4) TN TEER UF STTEET

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3. 3 [Option ID = 8203]
4. 4 [Option ID = 8204]

Topic:- General Paper_Set1_C

i Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T i GEGHIYE T AT 59 97g 4T T 59T W I 3

FIAT AP FAS-19 TeM §A1 W =1 1A R @ e 9R fdfa Rvaag = o f v
a1 T 31 Fos ad F it & § o d 6% sqwa F WY T arRA SRR i BigA TS
HEId # ¥l IR 3| 19 T q@g BT W 10 oG @ A I el g 8 R gl wear # gl w6
T FEEE S IETN 93 TE 2| UG ¥E WEWN WReA g% U wE w3, U@ Ok g
amiSE-lE v f 21 W W Uow it e IWiaT 2| s et aefas oY o
i T TR AT 2 s S w3 @ Ty R A s afs
(Rerardl) 7 3 o1 St ot wr ot e WeW W @ 8, W & T% fava e wed % ueEm U e ©
@R wedl gEadl B of 3@ W E aw w Afew wmdE oEhen feem % owE owm f g @ ke
an=aae & Aged | s i gr 31 ' A o ereelt Aefen oif s wan @ 21 5% 8 wan e ufifeurfo
w9 AP g1 v | AR g didiE gl % gled ot wng-ae @il 92 31 datdE wm wned @
a9 2 5 400 fafoem (40 Ug) @ = FiEl = TRt 3| faza 9% 3 sEm o & R osm A
g7~ (ifem) 7 110 fafemm smieh ser H wh snofl) gom s 2 5 500 fafema (80 #U3)
AT AT gREE) sl B T R d awd TE g )

The major crisis faced by the world since World War 1l is in which area?
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(1) Industrial (2) Technological
(3) Communication (4) Health

fadr Freargg 3 w faer 1wl @ wowe P 4 1 T 27

(1)
(3)

SIBHE (2) SRR
LIy (4) WA

[Question ID = 2052][Question Description = Q46_GP_20N0OV_S1_SHAAN]

B P

. 1 [Option ID = 8205]

2 [Option ID = 8206]

. 3 [Option ID = 8207]
. 4 [Dption ID = 8208]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic i1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery.
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T ) FEUEYES 93 U1 58 A1 2T 7T 99T H I 3

AT TEE FIFS- 19 HeMH §HR THF T STYAYd 3T Tanea o 3R fimta favagg & o i vew
St T 21 fiwer ad % sifm Bt F cfien § wh seva F @ 97 T sl R gl o
HergM # A g 2| O OF §EQ BT U 10 I A A I Tar g% 8 ol wwaar w5 af W
T SR W S8 U8 W 3| g A TEWN @R UHe ¥ HE oUT 2, T TH SEE
amifaw-a1ls wwe ot 2| 3 W waAw =Rt Tow wwifg ) e faamemr amEts onfie o
eI THE USH 9 & Rk o aEe R e T e I 1 A U o g i oo
(ferarll) 7 9 W St bt o aFiihl e T3 AR @ B, WY E AR FIvd T WieT % Wedr ¥ 99 ©
= el geg B Al 2@ W & 7w Afta® gedm stew Teem % wE W off 3 @ Eiee
gk & dgea ° fuge o 11 31 R o st et it e e @ 21 o 8 o B afifoufeen
%o AT B0 e | el g gif ugl % sed ok wug-ae @il ug 3 srddh s amen W
g 2 5 400 fafemm (40 wUg) @Fn = TewiEl o Tt 3 faza 3% 3 aEm e @ R s A
ge-taoy (Hda) § 110 fafomm smfeh ser i st snofh goem sifime 2 B s00 fufsms (80 =)
<A AT g el @ qu e § g E g )

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

T W e e S m e A gsT 2 7

1)
(3)

i (2) i
AT 3T T (4) TFEIR
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[Question ID = 2053][Question Description = Q47_GP_20NOV_S1_SHAAN]

1.

1 [Option ID = 8209]

2. 2 [Option ID = 8210]
3. 3 [Option ID = 8211]
4. 4 [Option ID = 8212]

3)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are

losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

IS I WA 96 YT 36 a15 f9T 71T I9T 1 ST 3

FIAT TEE FIFS- 19 TeMH §HH THF T STYAyd 37T Tanea o 3R fidta favagg & . i v=w
ot It 21 fer o % sifdm T F when § ww Teva b @Y A% TERE S A Siew g
e ¥ A g R 9 aF g@E B9 U 10 G AT A 5 T g & R gl weear # g
T SR AW I8 U8 W 3| g A TEWN @RS THe ¥ HE ofUT B, U9 Uh SEE
amtfsm-atls e 2| 2m = UoAw cahv T UWIRE 2| SEe faAmmmnl @mEifee s s
T T e T 3 R o e a e R w O §) uge ug s aries R afafi
(ferarll) 7 9 @ St It o aiht e T3 AR T B, WY E AR FIvd T WieT % Wedm ¥ 79 ©
= gudi geal B ol om W 2 o T Afta® geaw oghem FEem % wE W ot 3 @ Siise
AT 6 Agea ¥ e o g 31 e T o srelt Aesfen o o mar © 21 o 1 v B wfifeufen
e AT Er e | Folk g gife ugl % sed ok wug-ae @l ug 3 erddh s amen W
s 2 55 400 fafemm (40 wUg) @ i i st w2 faza 9% 3 A e @ TR oz A
g -gaor (Hda) § 110 fafomm smfeh ser i st snofh) gom sifime 2 B s00 fufema (80 =)
A AT g sl @ qu e § g TE g )

Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica

HH-T TG HifTe— 19 ¥ Y 1 AT gor 27

(1)

3

afiren @) ot i
s (4) iR

[Question ID = 2054][Question Description = Q48_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8213]
2. 2 [Option ID = 8214]
3. 3 [Option ID = 8215]
4. 4 [Option ID = 8216]
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4)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO., and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet theiwr basic needs.

T ] TEGEE 53 AT 59 918 3T T 99 W IW 3

BRI I Hifag-19 Tamil AR 999 1 3NEYE ARas @ ghe iR fidfa wagg & o 6 g
a2 T 31 Tt @6 % sifam &1 5 oRmn 4 sus 39Wa % WY TE aERE SRR i BISAR U
HErd ® ¥l IR 3| o9 T @ BT W 10 ©INg @ e I e g & AR gl wear B gl w6
TR WS S I IS @ 8| Weg 4T WeWHl TR Ghe ¥ wEl IR 3, AT U I
amsE-aiE g% ff 21 2W W veT ot e uwiad 21 sue el e o iR
i T9E U39 9 8 e S wng 9w TRt FeA w919 §) g ug i afes i afmfa
(Ferard) 7 3 o1 & ot wr ot e WeW @ @ 8, W oI5 fava e wed % ueEm U e ©
@R wedl gEadl w1 o 3@ W 2 aw 7w ARew urdE oEhen feem 5 owE owm f g @ ke
au=aae & Sgea | Hvaw i gr 31w 5 o erelt Aefen ik e man @ 21 o 78 wan e ufifeurfon
w6 gEFg ge v | il g difla gl % gled o wg-ae @il ug ) iaddE ww Wned W
a9 2 5 400 fafeem (40 wUg) AN = FeiEl o TRt B fard d% 3 Em T R s AW
g7-tat (ifem) # 110 fufemm smieh sen i wd snorfh) goem sthime 2 B s00 fafema (80 #Us)
T AT gRenE) sl B T R d and TE g )

Which of the following organization has given technical lead in the UN's socic-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  {4) UNSC

=1 4 @ 5w geom 9 UN it amfas onide afamfa (feadl) e #1 99 wem fran &7

1)
(3)

UNDP (2) UNICEF
UN-GHRP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8217]
2. 2 [Option ID = 8218)
3, 3 [Option ID = 8219]
4, 4 [Option ID = 8220]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the

greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
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In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?

year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery.
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are

losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World

Bank projects a US 3110 billion dechine in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.

IS I WA T 9T 39 915 fOT T I9 1 ST 3

HIAT TEE FIFS- 19 HeMH §HH THF T STYAYd 37T Tanea o9 3R fita favagg & o i v=w
o€t I 21 frmer o % sifim T F when § suS Teva h @Y A% TERE SR B Siew g
Herdid # e g 2| 99 TF 3@E BY A 10 G ST FFH I @ g & AR gl wrear # ail w
T SEET AW IS U8 W 3| g A TEWN @RI UHe ¥ W oUT 2, A9 TH SUEE
amTfaw-ails wwe ft 2| 3@ W waAw =Rt Tow wwife R e o amEtis anfie ok
T T ugH 9l & Rk o aue o el R e e 21 e ug ol i e afamfy
(ferarll) 7 9w 3t It o aoht e TG AR @B, WY E A8 Fvd T WeT o Wedm d 99 ©
= el gegl B fl 9@ W & T dfta® gedam ste TEem % wE W off 3 @ Eiee
oI & Aged § s o 1gr 81w e @ st el ot s mer @ ) 9 9 wan R aftfeetae
e AT &0 e |l g gife ugl % sed ok wug-ae @l ug 3 srddh s amen W
s 2 35 400 fafemm (40 =Ug) = At Fien st ekt €| faza S 3 sEm omen @ PR osm
g -taor (HHda) § 110 fafomm smfeh swer ) st snofh goem sifime 2 B s00 fufems (80 =)
<A AT g sl W qu e § g E g )

(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions

Hifas-19 % sucte d frfafa 9 @ 67 Tmeai/ afaem * g g7 it asd w9 garear gt ?

(1) 792 32 (2) e afteE A
(3) Tt afamm (4) wieE aidEm

[Question ID = 2056][Question Description = Q50_GP_20NOV_S1_SHAAN]

1.

1 [Option ID = 8221]

2. 2 [Option ID = 8222]
3. 3 [Option ID = 8223]
4. 4 [Option ID = 8224]
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